THE ASTROPHYSICAL JOURNAL SUPPLEMENT SERIES, 37:321-341, 1978 July
© 1978. The American Astronomical Society. All rights reserved. Printed in U.S.A.

COLLISIONAL EXCITATION OF INTERSTELLAR FORMALDEHYDE

SHELDON GREEN*

NASA Institute for Space Studies, Goddard Space Flight Center; and Department of Chemistry,
Columbia University

BARBARA J. GARRISON
Department of Chemistry, University of California, Berkeley

WILLIAM A. LESTER, Jr.}
IBM Research Laboratory, San Jose

AND

WiLLiaM H. MILLER

Department of Chemistry

and Inorganic Materials Research Division, Lawrence Berkeley Laboratory,

University of California, Berkeley
Received 1977 September 15; accepted 1977 December 20

ABSTRACT

Previous calculations for rates of excitation of ortho-H,CO by collisions with He have been
extended to higher rotational levels and kinetic t t
have also been computed. Pressure-broadening widths for several spectral lines have been ob-

tained from these calculations and are

temperatures to 80 K. Rates for para-H,CO

found to agree with recent data within the experimental

uncertainty of 10%,. Excitation of formaldehyde by collisions with H, molecules is also discussed.
Subject headings: interstellar: molecules — molecular processes — transition probabilities

1. INTRODUCTION

Formaldehyde is widely distributed in interstellar
space and is readily observed at centimeter and
millimeter wavelengths. Its spectrum is that of a
slightly asymmetric top, with rotational energy levels
labeled by a total angular momentum, J, and its
projection, K, on the (C—O) symmetry axis, such that
J> K > 0. For K > 0, each J, K level is split by the
small asymmetry into even- and odd-parity com-
ponents; however, the splitting is too small to resolve
in astrophysical sources except for the K = 1 levels.
The observed lines at 6 cm and 2 cm correspond to
intradoublet (K = 1, AJ = 0) transitions for J =1
and J = 2, respectively. The millimeter transitions
correspond to AK = 0, AJ = 1 transitions, with the
further restriction that only upper-to-upper and
lower-to-lower transitions are allowed between the
K-doublets. Finally, due to nuclear spin of the sym-
metrically placed hydrogens, the levels divide into
para (even K) and ortho (odd K) species, analogous
to the H, molecule. Para and ortho forms are not
interconverted by radiative transitions or by non-
reactive collisions and, for all practical purposes, can
be considered as two distinct chemical species in
interstellar space.

The observed transitions generally show non-
thermal excitation. The most striking example of this
is the ‘“anomalous” absorption observed in the
centimeter lines—i.e., the excitation temperature of
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these lines is less than the 3 K background radiation.
The millimeter lines, on the other hand, are normally
seen in emission. The nonthermal excitation is due to
competition between collisional processes, which try
to equilibrate all levels with the local kinetic tem-
perature, and radiative processes, which tend to
equilibrate all levels with the radiation temperature
(generally just the 3 K background radiation at these
frequencies). The radiative rates are well known. The
rates for collisional excitation, however, are not, but
they are proportional to the density and are functions
of the kinetic temperature. If the molecular rates are
known (and if radiative trapping effects are accounted
for in the line formation), the observed excitation
temperatures for the various transitions can provide
an excellent probe of interstellar densities and kinetic
temperatures.

1t is not yet possible to obtain the required collision
rates experimentally. As early as 1969, however,
Townes and Cheung made estimates, based on a
simple theoretical model, which accounted for the
observed anomalous absorption. Subsequently a
number of authors presented more sophisticated
calculations, although these still suffered from various
approximations. Recently we obtained theoretical
rates from an essentially exact, numerical solution of
the quantum mechanical equations that describe low
energy H,CO-He collisions (Garrison et al. 1975a;
this article also summarized previous calculations).
These rates qualitatively confirm the Townes and
Cheung (1969) collisional pump mechanism for
anomalous absorption, although they differ in detail.
These rates have also now been applied to a number
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of centimeter and millimeter formaldehyde observa-
tions in order to infer interstellar densities and kinetic
temperatures, with generally reasonable results (Evans
and Kutner 1976; Lucas, Encrenaz, and Falgarone
1976; Wilson et al. 1976; Downes, Wilson, and
Bieging 1976).

Unfortunately, due to computational expense, we
were previously able to compute rates only for kinetic
temperatures to 20K, although formaldehyde is
observed in many sources thought to be hotter than
this. In the present work, theoretical rates are ex-
tended to higher collision energies where more levels
are energetically accessible. To do this, we have used
the coupled states scattering approximation (McGuire
and Kouri 1974; Pack 1974) which, although an
approximate and computationally simpler scheme,
has been shown to be quite accurate when compared
with the close coupling calculations done previously
(Garrison and Lester 1977). Furthermore, it can be
shown that this approximation improves at higher
collision energies (Kouri, Heil, and Shimoni 1976).
Using this approximation, we have also been able to
provide some check on the calculations by computing
collision-induced pressure-broadened spectral line
widths which can be compared with available ex-
perimental data.

Hydrogen molecules are the most abundant species
in the interstellar clouds where H,CO is observed,
being 4-5 times more plentiful than the next most
abundant species, He atoms. We have argued pre-
viously that excitation by low-energy H, molecules
should be very similar to excitation by He atoms
(Garrison et al. 1975a; Green and Thaddeus 1976).
A proper theoretical treatment of H,CO-H, collisions
is still prohibitively expensive; however, we can now
make a few comments about the differences between
H; and He excitation.

II. DETAILS OF CALCULATION

For the most part, the current calculations followed
our earlier procedures. The intermolecular forces
between H,CO and He were obtained from large-
scale Hartree-Fock (Garrison, Lester, and Schaefer
1975) and configuration interaction (Garrison et al.
1975b) calculations for the electronic wave function.
Details of the close coupling (Garrison, Lester, and
Miller 1976) and coupled states (Garrison and Lester
1977) scattering methods have been described pre-
viously. Coupled states cross sections were found to
agree generally to better than about 25%, with close
coupling values. (It is now known that the choice
I = J, ie., the orbital angular momentum equal to the
total angular momentum, is the correct one for the
coupled states approximation. This was found to give
better results than two other possible choices tried by
Garrison and Lester [1977], and has been used in ail
of the present work.) The largest errors are believed
due to low-energy resonance structure which cannot
be accurately reproduced by the approximation. It
has been shown by Kouri, Heil, and Shimoni (1976)
that the coupled states method improves at higher
collision energies.
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In the present work a few small changes have been
adopted for numerical convenience. (1) Rather than
an analytic fit to the interaction potential, the present
calculations employed a numerical tabulation at inter-
molecular separations R = 2.4(0.2)18.0 bohr radii
with fifth-order Lagrange interpolation (cf. Green
1977b). (2) Rather than exact asymmetric top wave
functions, the H,CO rotational functions were
assumed to be those for a (symmetrized) symmetric
top. Correspondingly, energy levels were computed
for these wave functions using the rotational constants
(in cm™~?!) 4 = 1.2955, B = 1.1344, and C = 9.4060.
Neither of these changes caused significant differences
from previous results,

Within the coupled states approximation, scattering
calculations for ortho-H,CO were performed with
varying size expansion basis sets of rotational wave
functions to check convergence at a few energies. The
smallest basis used here, labeled B16, contains the
same 16 states employed in the earlier studies: K = 1,
J=1, 5; K=13, J=3, 5. Basis B20 contained
K= 1,7; K = 3,J = 3, 5. Basis B24 contained
K= 1,7, K=3,J=3,6; K= 5,J = 5. And
the largest basis, B28, which was used in the final
calculations, contained K=1, J=1, 9; K= 3,
J=3,6; K=25,J=5. Some selected cross sections
at a total energy E = 95.1668 K, the highest energy
considered in earlier studies, are given in Table 1 as
a function of basis set size; from these it is apparent

1,J =
1,J =

TABLE 1
Basis SET DEPENDENCE OF SELECTED CROSS SECTIONS (A3) AT
E = 951668 K

i—f B16 B20 B24 B2§

111 - 110 ......... 6.06 5.78 5.44 5.37
212 et 8.89 9.11 9.00 8.81
T, 6.53 6.38 6.42 6.30

K I TP 4.34 4.62 4.73 4.79

K TP P 1.13 1.03 1.05 1.01
4ig.innnn. 3.96 3.91 3.94 3.92

4. 0unn... 1.09 1.08 1.03 1.03

51600 inannn 1.89 1.01 1.00 1.00
Sigeeiinnnnn 0.21 0.20 0.15 0.16
G16..00onu.. . 1.62 1.61 1.77

615 eunnn. .. 0.16 0.13 0.15

110 - 213 ......... 7.80 8.47 8.54 8.74
21, 7.08 6.59 6.58 6.40

318 i 3.68 3.60 3.68 3.63

K PP P, 3.87 3.80 3.99 392

L. P 1.99 1.86 1.90 1.94
4ig..nunnn 0.67 0.76 0.66 0.64

516 v eiennnn 3.4 349 354 3.82

Si6e it 0.51 0.59 0.53 0.54

G16. . 0nunn. .o 0.55 0.57 0.60

616 cverennnn - 0.11 0.09 0.11

414 — 413 ......... 1.93 1.97 1.95 2.00
518 cviiann 104 9.82 9.59 9.51
Sigeeiviinnn 3.29 1.79 1.92 1.85
616-0iun.nn. cee 0.99 0.97 1.04

[ TP e 0.69 0.70 0.65
45>55. 000, 3.65 2.32 2.32 2.48
S1ac 0, 15.4 9.90 9.63 9.40

16+ vuanan vee 2.23 2.23 2.32

1B cceneanns 2.54 2.68 2.77
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that the basis used previously was, in fact, adequate
to give cross sections within about 10%, of the infinite
basis limit.

Using the largest (B28) basis, cross sections were
calculated for total energies (in K) of 60, 70.1668,
95.1668, 110, 130, 150, 170, 200, 250, 300, 400, and
500. These, plus the earlier close coupling cross
sections among the lowest eight levels at 12 energies
below 100K, were numerically integrated over a
Boltzmann distribution of collision energies to obtain
rate constants at kinetic temperatures to 80 K. The
final rate constants are tabulated in Table 4.

For para-H,CO coupled states calculations were
performed which included 21 rotational levels:
K=0,J=0,1;K=2,J=2,5;and K = 4,J = 4.
Cross sections were obtained at 14 energies in the
range 15-450 K. These were integrated over Boltz-
mann distributions of collision energies to obtain the
rates which are tabulated in Table 4.

III. COLLISION-INDUCED PRESSURE BROADENING

Pressure broadening of spectral lines provides a
measure of the total collisional rate out of the spec-
troscopic levels. The line width can be related to a
generalized collision cross section which can be
obtained from a scattering calculation. Therefore,
some check on theoretical scattering calculations can
be had by comparing computed pressure-broadening
cross sections with experimental values. It should be
noted that agreement is a necessary, but not a suf-
ficient condition for the accuracy of the calculation,
i.e., there is no unigue relationship between state-to-
state cross sections and pressure-broadening cross
sections.

Nerf (1975) has presented measurements for several
microwave transitions of H,CO broadened by He and
also by H, at room temperature. His results appear to
be accurate to better than 10%,. In an earlier study
Rogers and Roberts (1973) reported broadening
measurements, also at room temperature, for some
lower frequency transitions, but the accuracy of these
measurements seems questionable since their data
show a number of irregularities.

Because the available experimental data are for
room-temperature collisions, it was impractical to
perform close coupling scattering calculations for
comparison. However, the coupled states method can
be extended to this energy range. It has been shown
that this approximation is accurate to better than
about 5%, for a number of systems (Green ef al. 1977;
unpublished results). In fact, it is found to be generally
more accurate for this highly averaged quantity than
for individual state-to-state cross sections.

We have calculated pressure-broadening cross sec-
tions for several spectral lines using the coupled states
method. To examine convergence with basis-set size,
calculations on ortho-H,CO were done at a collision
energy of 300 K using the B16, B20, and B24 basis
sets. These results are presented in Table 2. It appears
that the B20 basis set gives results within a few percent
of the infinite basis limit. A comparable B2l basis

COLLISIONAL EXCITATION OF H:CO 323

TABLE 2

Basis SET DEPENDENCE OF SELECTED PRESSURE
BROADENING CROSS SECTIONS *

Line B16 B20 B24
1332120 00ennnn. 337 347 35.0
lio-2110eeennnnn. 337 35.0 35.2
215313000 innn cee 334 33.3
20-3. e ves 337 4.0

* Cross sections in A? at a collision energy
E=300K.

was used for para-H,CO transitions. Because the
experiments measure a Boltzmann distribution of
collision energies, we have done calculations with the
B20 basis set for collision energies of 150 K and 450 K
as well, As seen in Table 3, the pressure-broadening
cross sections for this system are only weakly de-
pendent on collision energy in this range. Experi-
mental values are also given in Table 3 for comparison.
It is seen that the agreement between theory and
experiment is generally excellent—within the 107,
experimental errors—except for the 6 cm transition.

IV. EXCITATION BY HYDROGEN

We have argued previously that excitation of H,CO
by low-temperature hydrogen molecules is similar to
excitation by He atoms. This is predicated on the
assumption that, at low temperatures, hydrogen is
essentially all in its lowest J = 0 rotational level. On
the other hand, if there is no sufficiently rapid mechan-
ism which interconverts the nuclear spin species
ortho-H; (odd J levels) to para-H, (even J levels), the
hydrogen will freeze out mainly in the lowest J = 1
ortho-H, level, which has significantly different
collisional properties. However, Dalgarno, Oppen-
heimer, and Black (1973) have suggested that inter-
action with protons will provide a mechanism for

TABLE 3

CALCULATED AND EXPERIMENTAL PRESSURE BROADENING
CROSS SECTIONS *

CoLLisION ENERGY (K)

LmNe 150 300 450 Expt., 300K
153-232..... 35.9 34.7 4.4 37.5¢
110-211. 4. - 36.0 35.0 346 36.2t1
252313, ... 34.2 334 333 35.3¢%
2;;-31a. ... 34.3 337 334 35.9%

11~-lig..... 36.0 ces 34.4 23t
2122110000t 36.0 .. 34.7 351
Ooo-101..... ... 329 . s
1o:~202..... .- 31.6 “ee 34.5¢
202~303. .1+ ces 31.2 .. 34.2¢

* Cross sections in A2, Ortho-H,CO values computed with
the B20 basis set and para-H;CO values with the B21 basis.

¥ Nerf (1975) claims an accuracy of 10%,.

1 Rogers and Roberts (1973) do not give error estimates.
See discussion in § III.
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rapid interconversion of ortho- and para-H, in
interstellar clouds.

Excitation by H, will differ from excitation by He
for two reasons. First, H, has a smaller reduced mass,
and second, the interaction potential will be some-
what different. It is straightforward to change the re-
duced mass in the scattering calculation. Using the
H, reduced mass and the H,CO-He interaction gives
cross sections about 15%, smaller than those obtained
with the He reduced mass. This is due mainly to the
smaller reduced mass being less effective in penetrating
the centrifugal barrier at higher partial waves. The
rate of collisional excitation is the cross section times
the velocity. Because of its smaller reduced mass the
H, velocity is some 407, larger than that for He at a
given temperature. The effect of changing the reduced
mass is thus to increase H, excitation rates by about
30%, over He values, with little change in the relative
rates of different transitions.

The difference between interaction potentials for
H, and He is more difficult to determine. When H,
is in its lowest J = 0 level and at low temperatures
where collisions cannot readily excite it to higher
levels, it appears to a very good approximation to be
a structureless, spherical particle, like a He atom.
Furthermore, since H,, like He, has two electrons, its
interaction potential might be expected to be similar.
The major difference is that H, is more polarizable
than He, leading to somewhat stronger long-range
forces and a deeper van der Waals minimum. Also,
H, is expected to be somewhat larger than He. Based
on these considerations, Green and Thaddeus (1976)
adapted a theoretical CO-He potential to CO-H,
scattering; this interaction was able to account for
collision-induced broadening of CO microwave and
Raman spectra by both H, and D, (which has the
same potential but a different reduced mass) over a
range of temperatures. This potential predicted state-to-
state rates for excitation by H, which were some 507,
larger than those for He, but which had rather similar
“propensity rules.” It seems likely that similar
conclusions obtain for excitation of H,CO.

Nerf (1975) has measured room-temperature pres-
sure broadening of H,CO by H,. Using the H,CO-He
potential and the collisional reduced mass appropriate
for H,, we have computed pressure-broadening cross
sections. The computed cross sections are about 157,
smaller than those for He; the experimental values,
on the other hand, are larger by about 60%,. This
might appear to invalidate the above discussion, but
we do not think it does. The discrepancy here between

theory and experiment presumably reflects the fact
that the room-temperature H, used in the experiments
is most ortho-H, with J = 1.

For ortho-H, (and for para-H, with J > 2) the
interaction potential is significantly different since
the H, is no longer spherically symmetric. In par-
ticular, H, has a permanent electric quadrupole
moment which gives rise to a long-range interaction
with the sizable H,CO dipole moment. To a first
approximation, the effect of this dipole-quadrupole
interaction is to enhance dipole allowed transitions
of H,CO by roughly a factor of 2 (cf. Green 1977a).
Therefore, pressure broadening of H,CO by the
normal ortho/para mixture of H, is expected to be
somewhat larger than broadening by para-H, (with
most molecules in the J = 0 level). It should be
possible to observe this effect experimentally, although
it has apparently never been looked for. Finally, it
should be noted that the same effect in pressure
broadening of CO by H, will be minimal due to the
vanishingly small dipole moment of the CO molecule.

V. CONCLUSIONS

Our previous calculations of excitation rates of
ortho-H,CO by collisions with He have been ex-
tended to higher rotational levels and kinetic tem-
peratureés to 80 K. Rates for para-H,CO have now
been computed as well. Potential inaccuracies in these
calculations can arise from a number of sources, in-
cluding errors in the theoretical intermolecular forces,
truncation of the scattering expansion basis set,
inadequacies of the coupled states approximation
used for higher collision energies, and numerical
errors in the integration over collision energies. It is
believed that the major source of error is probably
uncertainties in the intermolecular forces, and it is
estimated that they may give rise to errors in individual
cross sections on the order of 20%,. Pressure-broaden-
ing cross sections have also been obtained for several
spectral lines, and these agree, within the experimental
error of 10%,, with available data.

It is suggested that excitation by low-temperature
para-H, (i.e., all molecules in their lowest J = 0 level)
is faster by about 50%, than excitation by He, but that
the probabilities for different transitions (‘“‘propensity
rules”) are similar for both collision partners. Ex-
citation by ortho-H, (J = 1) is expected to lead to
significant enhancement of dipole allowed transitions
of H,CO.

APPENDIX

The computed excitation rates, in units of cm® per second, are tabulated_in T_ab]e 4asa functi_on of kinetic
temperature and listed by initial rotational level. The rotational levels are given in standard notation for asym-
metric rigid rotors. Rates for ortho-and para-H,CO are given separately. The numbers in parentheses are the power

of 10 by which the preceding entry is multiplied.



TABLE 4A

CoLLisioN RATE CONSTANTS (in units of cm? 8-2) As A FuNcTioN o KINETIC TEMPERATURE, FOR OrTHO-H,CO/He

INITIAL -~ FINAL 16.C K 20.0 X 30.0 K 40,0 X 50,0 K 60.0 K 70.0 K 80.0 «
Wile 1) - 10 1 O 548(-11) Se0(=11) 4¢5(=11) 4.2{=11) 40(=11) 39(=11) 3Iu8(~-11) 3.7(~11)
10 Le 3) = 20 1 ) Sadl=11) Se2(=11) Cedi=11) Sea4(=11} Seal=11) Sea(=11) Seo(-11) S.a(-11)
3¢ 1e 1) - 20 20 1) 21(=11) 28(=31) 2e2(=1%) 3Ie30=11} 3I.6(=11) 3e7¢=-11) 3.9(~113 4 1(~11)
1 3 1) = 3C 2e ) Te2(=12) 1eS(=11) Z40(=11) 2.8(=11) 2.6(=13) 29¢(=11) 3Iol(-11) 3e2(~11)
1¢ 1 1) = 3C 10 &) 100(=132) 2:6(=12) 2.5(=12) 5.2(=12) 6+4(-12) 7.64-12) B8:7(-12) 9.7(=-12)
B¢ Be 1) = &( 1s &) 1664-12) 646(~12) 143{=211) 1:e5(=11) 1a7(=11) 240(=11) 2.2(~100 2,3(-11)
1o 1) =60 2o ) $5(=13) 1¢3¢~12) 2:8(~=12) 4:3(=~12) 5+8(=12) 7e2(~12) 8:5(=12) 6S.8(~-12)
RE 1e 23 = S 10 8) GeG{=34) 9e6(=13) Fell=12) 3e3(~12) 4:3(=12) S.2(~12) 6.,0(=12) ¢&.7(-12}
I 3o 1)~ 5C 10 &) 1o3(=14) 1460(=13) 4eS(=13) 8.3(=13) 1.3{=12) 1le?(~12) 2.2(=12) 2.,7(-12)
1C 3 3} = 6( 1s 6) 2¢3(=14) B.0(~13) 2¢6(~12) 4:6(=12) 6.6(~12) Be8(~12) 1e0(-11) Hei(-11)
1C 3e 8) =60 1y S 108(=15) Tea(=16) Z48(=13) 6.0(~13) 9:8(~13) LeW(~12) LeB(~12) 2,3(~12)
1€ 16 1) =70 26 N 160(=18) 9.0(=18) 4eCl=13) 8:.2¢=1I) 1:3(=12) 1e7{(=12) 2+1(~12) 2.5(-12)
1€ 1e L) = 70 20 €) 1e50=17) 2494=15) 1.9(=14) S.9(=18) 13(=13) 2+3(~13) 3:6(-13) Se2(~-13
1€ 1s 1) - 80 1 8) Be20=17) 2414=18) 1.€(~=)3) #e3U=13) Te8(~13) 1+2(~52) 1:5(~12) 1e9(-12)
1€ 3¢ 1) - 80 20 ) 2.%(=18) 1¢3(=15) 1e1{~14) 3IeT7(~14) B8.,0(-14) 1e8(=13) 2.2(-123) 3Is2(-13)
1C 4o 10 - 3L 30 M) GeS(=17) 2.2(~18) 1o84=12) 3Is6(=13) 6Ge8(~13) 9:6(=13) 1.3(~12) 1.6(-12)
1€ 1s 1) = 30 3, O) 1od{=17) 2.8(=15) 1.8(~14) 4 .T7{~14) BeT(=184) 1e3(=13) 1:8(~13) 2.4(-13)
A0 ke 1) = &( 3. . 2) 2.C(=17) 3140(~14) Eoll(=14) 2:3(=13) 4.8(=13) 6:8(~13) 9.4(~1F) 1.&(~12)
1€ e 1) - &L 30 1) B8e(~18) €e3M~18) IAl~14) 9:.9(=14) 2.,0(=1I) 3Ie2(=13) A4.7(-12) €E»a(-13)
¢ 1e 1) = S 30 ) 4.3(=18) S5.5(=15) £.8(~14) 1.9(=13) 3.8(=13) 6+1(~13) 8.6(-13) l-l(—iZ)
1€ 1s 1) = S0 3y 2) 2E(=18) 2,6(-15) 25(=14) 1+3(~13) 2.7(~13) 4.,5(-13) 6.4(=13) 8,4(-13)
1€ 1o 0) = 10 2 1} 6eC{=11) Sel(=11) QE(=~11) 4.2(~11) 4.0(~11) 3,9(~11) JebB(~11) Ia7(-11}
1€ 1s 0) - 2¢ 0y &) 2e7(=11) 3e5(=11) 2:9(=11) As1i=31) 4e3(=11) 4.8{~11) A:S(-11) 4.6(-21}
1€ 1e 0) = 20 1 1) 2.8(=11) 3eS(=11) 2.8(=11}) 3:9(=11) 4.0(=11}) 4cl(=11) S2(~11) As2(=-11}
1€ 1 00 - 3L 20 1) B8e2(=12) 1e6(=11} 1e9{=11) 2,00(=11) 2.:0(=11) 2e2(=11) 2,2(=11) 2.3(~-11}
i 1s 0 - 30 1 2) 307(=12) 9.8(=12) 1e4{~11} 1.8(=111 2.1(=11} 2+4(~11) 2.6(-11) 2.8(~11)
A Lo O) ~ 4( 1» &) Le@(=12) 4e9¢=12) 7¢5(=12) 9.5(~12} 1e1(=11) 1a3(=111 1eb{=11) 1.5(~11)
14 1o Q) =~ &¢ 1s J) 1e2¢=13) Ee7(=13} 1:6(=12) 3Iell=12) 4:2(=12) Se¢3(~12) 06+2(=-12) 7.1i-12)
I 1le 0 = 51 1 B Je20=13) 3e3(=12) 7.4(=12) 1oll=11} Ho8{=11) 1+7(=11) 1:9(=11) 2.0(~-11)
14 1o 0) ~ S0 1, o) 8e5(~14) Se1t=13) 1e3(=12) 2.2(=12) 3.1{=12) 3.9(~=12) 4.7(=12) S5.51-12)
10 1e 0) = 60 1y &) Be2(=15) 28(=13) £.72(=12) 1.5€(~12) 2.1(=12) 2.6(=12}) 3Jel(=12) 3S(~-12)
14 1e G2 =~ 6C 1 5) 2e3(=15) Sel(=14) 1:9€(=12) 4e2(=13) 7.2(-13) 1e2(=12) 1:5(~12) 2.0(~12)
'l( 1s G2 - 71 10 1) 1e5(=15) 1+4(=13) €.6(=13) 1.4(=12) 2.3(~-12) 3I+1(~12) 3.8(~-12) 4.S(-12)
3¢ 30 0 =~ T 1, &) Fol(=17) 1e3(=14) Ee2(=14) 2.2(=13) 4.3{~13) 7.0¢(~13) 1,0(=12}) 1.3(=12)
1 1s O} = 8C s & 304(=17) 1.5(=14) 1.1(=12) 2:8(~13) 5.0(=13) 7e2(~13) 9eal=13) 1.2(~-12)
3¢ 1, 0) - 8C 1» 7 166(=1€6) 8,0(=16) ¢+4(=15) 2.0(=184) 4.8{~18) B8.0(~14) 1:3(~13 1:9=1I)
£ 1e 0) - 30 30 1) Qell=17) Get(=15) 2.20~14) T.6(~14) 1+3(=13) 2.01(=13) 2.7(=13) 3Je8{~1M)
i s 0) = 3L 30 O) 9:8(=17) 2e4(=14) 1.6(=13) 4:.3(=13) B8.+0(~13) 1:2¢~12) 1.7T{~12) 2.2¢1~12)
1€ 1o O) - &8C 3, 2) 1e3(=17) 6e91-15) %2.6(~14) 1:6(=13) 3Io1(~13) 4:8(~13) 6.6(~13)  &.3t-13)
1 3¢ O) = 4C 30 1) 2.0(=17) 1430(=16) 1:0(~13) 2¢9¢(~13) S5e5(=13) 8.6{=13) 1,3l~12} JeS{-12)
1C 1s 0) - SC 3, J) 1¢2(=38) 142(=15) 1e2(~14) 3.6(=14) 7:0(=14) 1e3¢(=13) 1.5(~13) 2.0¢(=-13)
10 1e 0) = 5( 3 2) 4.6(=18) S5.8(~15) €e3(=14) 2¢1{~13) 4:3IH~13) Tel{~13) 1+0(~12)

‘fe8({=12)



TABLE 4A—Continued

INITIAL F INAL 10.0 K 20.0 x 3C.0 K 40.0 K $0.0 x 60.0 K 70.0 K 80,0 X

20 1, 2) 1 1 M) 4e8l=11) 4Acal=11}) 4eOl~11) 3.9C~11) 3Je7(=11) 3Ie?(=11) 3e6(~11) 3.5(-11)
2l Lt 2) 1 e O Jel(=11) 2.9(=11) EaB(=11) 2¢9¢=11) I0(~11) Je0(=11) 3,0(~11) 23I.0(-11)
20 1« 2} 2¢ e V) Ae5(=11) 3e80=11) Ze8L=11) 2:5(=11) 2+3(=11) 2e2(~11) 2.1(=11) 24t(=-11)
20 Lse 2) 3¢ 1s» 3 2.6(=11) Acil~11) 4Bl=11) S.2(=11) SeS(-11) Se7(-11) S.8(-11) S.9(~-11)
20 1, 2) 3( 1. &) Sadl=12) 9¢8(=12) 143(=11) 1:5(=11) L T{(=11) LeB(=13) 2.0(=11) Zel(=-11)
2¢ 1o 2) el 1o &) 208(=12) 6GaT(=12) $.00(=13) 1:3(=11) JoeOl(=11) JeB8(~11) 2.,0(~11) 2.2(=-11)
2¢ 1+ 2) a0 1. 3 3.8(-13) 1.8(=12) 3ol{=12) 4:2(=12) S5.2(-12) 6.0(=12) 6:9~12) T:6(~12)
2 1 2) 5¢ 1. 8) 3e3(=13) 2e2(~12) 4.5(=12) 6.6(-12) B8.6(~12) 10(~11) 1.2(~11) 1.3(-11)
2¢ 1, 2) St 1, 4) G48(—16) 8.3(=13) 1.8(~12) 2:9(=12) 3I8(=12) 4aB8(~12) BS.6(~12) EConl(~-12)
20 1. 2) 6l 1 €) RQel=14) 4e8(=13) 1e3(=12) 2:2(=12) 3Ie0(=12) JIe8(=12) 4.4(-12) S.0(-12)
2¢ 1+ 2) 6( 1, S) 2¢9(~15) 8.9(=14) IJoll=13) 6:0(=13) 9utf=13) 1e3(=12) 1.7(-12) 2.,0(~-12)
2C 1, 2) 7€ 1. T} 402(=15) 2¢8(=13) tell=12) 2e34~12) Ie8(~=12) 4,5(~12) S5.5(~12) 6.:4(~-12)
2 1o 2) ¢ 1o &) 1e8(=16) 2¢2(-14) 1e2(=13) 3el(=13) S5+5(=13) 8a3(=13) Llol(=12) Lled(=-12)
2¢ 3o 2) a8l 1, 8) Cel(=17) 1:+8(~18) 1e3(=13) 3IJs7(=13) 6.8(~13) 1.0(~12) 1.8(~-12) 1.8(=-12)
2¢ 1+ 2) al 1 7) 2¢8(=18) 1e1{~15) SeC(=1S) 2.8(=14) 5e9(=14) 1:0(~13) 1+6(~13) 2.,2(~13)
20 1 2) 3 3, 1 BeT(=17) 1e34(-14) F.3(=14) 1.8(=13) 3:2(-13) 448(=13) 6.5(-1) 8Le2¢(-1)
2¢ 1o 2) 3 3 O) GeS(=17) 1edi=14) €oS{~14) 2.3(~13) S4o1{~1D) 6el(~13) 8B.5(~1D 1.0(~12)
2( 1 2) 4 3¢ &) Seal=17) 2:00~16) 1e54(=12) 4.0(=13) Te5(=1I) 1s2(~12) 1e06(~13) 221(~-12)
20 1y 2) st 3, 1) 408(=18) 240(~15) 15(=14) 4,8(=14) B.IH-14) 1:3(=13) 1.7(~13) 2,2(-13)
2( 1, 2) S( 3. 3 1eCl~17) Gub6l=15) Se8{=14) 3.0(=13) 6¢1(=13) 9:8(~13) 1.4(~12) 1s8(~-12)
2¢ 1. 2) 5C 3. 2) 1e3(~1E) 1ell=15) Se9{=15) 3.0(=14) 5.8(~14) 9o1(=14) 1,23¢(=13) 1.6(=13)
2(¢ 1 1) 1t 1s 1) 246(-11) 2+81-11) Zed8(=11) 2+8{(~11) 2e5(=11) 2e5(~11) 2e6(=11) 2.7(-11)
2¢ 1+ 1) 1{ 1. 0O) 3e8(-11) J00(-110 ZoS{=11) 2.8(=11) 248{=11) 2.,8{=11) 2.8(~11) 2.€(~11)
20 1s 12 2( 1» 2) Se8(=01) JIe5(=11) 249(=11) 2e58~11) 2.3{~11) 2¢2(=11) 2.0(~11) 2e12(~11)
20 1. 1) 30 1o ) 1e8(=11) 201(=11) Ze3i~=11) 2¢84=11) 2S5(=~11) 246(~11) 2.6(-11) 2.7(~-11)
&t 1o 1) 30 1. 2) 201(=11) Jedi=11) 2:8(=11) 4.0(=11) Ae2(=11) AeI(~-11) Ao (~11) 4.5(-11)
20 1o 1) 4( 1y &) 3e3(=12) 9.01=12) 1e3(=11) 1e5(=112 1e7(=113 1+B(=11) 2.0(~21) 240(~11)
2¢ 1+ 1) 4 1» J) 1e20=12) 243(=12) Seli=120 1+2¢(=11) 1:5(=i1) 1e8L(-11) 2.0(~11) 2,3(~11)
20 1. §) S 1 &) 2¢E(=13) 1e8(=12) 2e2{~13) 449(=12) 6,0(~12) 6¢9(=12) T .7(~12) QeIH~12}
20 1+ 1) S5( 1. @) 13(=13) 1¢10=12) o8 ~12) 3¢7(~12) 4.9(=12) 640(=12) 6:+9(~12) 7TeB8(=12)
2¢ 1s 1) 6( 1e 6) Se3(=14) 1e3(=12) 2.76=12) 642(~12) B4(~12) 1.0(=11) 1.2(-13) 1e8(-11)
20 1. V) 6t 1v &) LeCl=14) Z49(~13) Soll(=13) 1.7(=12) 2.81=22) 3Ie3(-12) 4.0(-12) 4.71-12}
2 )y 1) 7€ 1. ) 201(=15)  1e8(=13) SeSC(~13) 1e1(~12) 147(=12) 2¢3(=12) 2.8(-12) I 3{-12}
a2t 1« 1) 7¢ 1, ©) LeT(=16) 244(=14) 1:4(=12) 350(=13) 6¢6(=13) 1:0(=12) 1:5¢(~12) Je%=-12)
20 te 1) 8( 1., 8 Lel(=16) 346(=14) ZoS(=12) Gea(=13) 1e1(=12) 1.7{=12) 2,2(=13) 2.7(-12)
20 1e V) 8¢ 1« 7 Lall~17) 4:6(=15) 3Is61~14) 141£{=13) 2.1{=13) 3ea(=13) 5,0(~13) €C.7(~13)
20 1« 1) 3t 3. 1) 1eCl=16) 1¢9(~14) 1ell=13}) 2:94(=13) S.l{~13) 7.6(~13) 1,0(~12) 1.3(=12}
2L 1. 1) 30 3, O 1e¢0(=16) 1e7(~164) 1s0(=13) 2:5(=13) 4.8(=13) 6Ge5(-13) B8.6(=13) N1(~12)
2¢ e ) a( 30 2) 1e8(~17) 7431=18) 2,4(~184) 1+5{(~13) 2.8{(=12) S¢8(=13) 6¢0{=13) 7:7(-1 D)
2( 1 1) 4 3. 1) 4eSC=17) 149(~14) 1.4(~12) 4.0(=13) 7.6(=13) 1.2(=12) §.7(=13) 2,2(=12}
20 1» 1) 5 3, A 2e7(=18) 2.2(=15) Ze0(=14) 6e31=18) 1.2(~13) 2.0(-73) 2.8(-13) 3.6!-‘3)
20 1. 1) $C 3, 2) 7.2~18) 6.3(=15) €eCl~14) 1:9(=13) 3.9{~13} 603(=13) 94,0(=1M) - Ly2(=12)
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TABLE 4A—Continued

INIT LAL F INAL 100 K 2040 K 3Ce0 K 40.0 K 500 K 60.0 K 7060 K 80.C K
3( 1. ) 1C 1. 1) 1e7€=1131 1e5(=11) 1eSC=11} 1e5(=21) 1e6(=11) 1.6(=11) 1.7(~-11}) 1.7(-11)
3¢ s 2 1( 1. 0) LoS0=111 LJe6(=11) 1ea{=11) 1e3(=11) 1e3€(~11) 1e2(=11) Le2(=11) BeZ(~11)
3C 1, 2(C Lo 2) 9:0(=11) 4,9(=11) 4c8(=11) 4,8(=11) 4.6(=11) 4.8(=11) 4.8(-11) 4.8(-11)
3¢ 1, 3} 2( 1 1} 2eT{~11) 2644(=11) Ze2(~11) 242(~11) 242(=11) 2.2(=11) 2.2(=11) 2e2(-i1)
3( 1. 3) 3C 4 2) 29(=11) 2e5(=113 Zell{=11) 1+9(=11) 1e8(=11) 1e7(=11) 1.6{=11) 1.6(-11)
3C ks ) et 1. &) LeB(=11) 3.2(-11) 4.0(=11) 4.4(=11) @:8(=11) S.0(~-11) S.2(~11) Se3(-11)
3¢ 1, 3) a( 1, ) 242(-12) Se6(~-12) 7.8(=12) 9.6(=12) 2e1{~11} 1e20-11) Lea@{=11) 1.5(-11)
3C . ) S5C 1. &) Se7U=23) 248(-12) Sed(~12) 7¢8(=12) 1.0(=11) 1e2(=11) 1.a4(=11) 1.5(=11)
3¢ 1. 3) S 1» &) 2e%(~13)  142€~12) ZeE(=13} 301(=12) 3e8(~12) 4¢5(=12) Sel{~12) Se7(=12}
30 1. J) ol 1 €} €el(-14) 140(=~12) 27(=12) 4.4(=12) 6.1(=12} 7T.7(=12) 9.3(-12) 1.1(=11}
3C 1, ) 6( 1s S) 209(=14) 4:8(=13) 1.E(~12) 241(=12) 248(=12} 36(~12) 4.3(-12) 4.9(-12}
3C 1, 3) TC 1L, N 6eG(=15) 1e9(=13) €eS(=13) 1+2(=12) 1+8(=12) 2.4(=12) 2.9(-12) 2.4(~12}
3C 1. 3) 7(C 1, 6) Sedl~16) 4.6(~14) Eel(=123) H.a(=13) 7.2(=13} 9.:9(=13) 143(-12) 1.5(=12}
3C 1e 3) 8t 1. &) Fo3(-16) 7.0(-14) 4.0{~13) 9e4(=13) 1.6(=12} 2.42(=12) 2.,9(-12}) 3I.S5(-12}
3¢ 1. ) 8( 1, 7 208(=17) Te3(~15) SeC(~14} 1.4(=13) 2,6(-13} 4¢2(=13) S.9(-13) 7.,7(=13)
3¢ 1. 3 3( 3, 1) 1eT{=162 1.9(=-18) S.4(=24) 2.2(=13) 3.7(=13) 5.2(~13) 6¢8(~13} E,4(~13)
3 e 3) 3( 3. 0) 163 =16) 1+5(=1a) 7.7(-14) 1.9(=13) 3e4(-13) Se0(=13) 6.8(=13) £,7(~13)
30 1. 3) a( 3, 2) 9eC(=17) 240(=16) 142(=12) 3.1(=13) 5.4(~13) 7.9(=13} 1.0(=12) 1.3(-12)
1. 3) 4t 3. 1) T7o5(~17) 18(-18) 1e8(=12) 2.7(=13) 4.8(=13) 7,0(=13) 9+3(=13) 1.1{=-12)
3 1+ 3) SC 3, ) 202¢(-17) 1le2¢(-18) 1eC(=12) 3e1(=13) 6:1(=13) 9.8(=13) 1.6({=-12) 1.8(=-12)
3t 1e N St 3, 2) TeSL=18) @26(=15) @eC(=14) 1e2(~13) 2¢-13) 3.6(~13) 4.9(-12) €.2(~13)
I 1. 2) 10 1e 1) 2e7(-12) 248(=12) 3.0(=12) 3:53(=12) 4.0(=12) 4.4(=12) 4,8(-12) S.2(-12)
30 1. 2) 1t 1. 90 FeU—-12) 140(=11) 1ad(=11) 1+2(=11) 13(=11) Le4(=11) Ded(=11) Leo%(=11)
3C 1. 2) 2(¢ 1. 2) 120310 1e20-11) 1:3(=11) 1eal=11) 1+5(=11) 1e6(=11) AaT{~11) 1e8(=-11)
3. 2) 21 1+ 1) 4e5(-11)  442(-11) 269(=11) 3.8(=11) 3e7¢=11) I T7(=11) 3.7(~11) 3e7¢(=11)
3t 1. 2) 3C 1. 3) 3e2(=11) 2e7(=11) Ze2(=12) 2.0(=11) 3e8(~=11) 1e7(=11) 1a7(=11) lae6(=11}
3C 4 2) 4 e ¥ 1ol€=131) 1e44~11) 1eSC=11) 1e6(=11) 147(~11) 1+8(=11) 1.8(=11) 1.9(-11)
3¢ 1. 2) ol 1. B PeSI—12) 2e3(~11) 2e2(~81) 3:6(=11) 3.9(~11) 4el(=11) 4,3(~11) @.4(~11)
3t 1. 2) St 1. 3) 1e3(-12)  Sel(-12) Eed(=12) 1ed(=11) 123(=11) 1+5(=11) 1.60~11) 1e7(=11)
30 1. 29 St 1. &) 1eC(~12) 4e5(~12) 2e5(~12) 1e1(=11) 1e4(=11) 1+6(-11) 1,9(=11) 2.1(=11)
3C 1. 2) 6l 1, &) TelM=14) 9.8(-13) Ze3(-12) 3.8(=12) 4:4(-12) S.2(=12) 6.0(=12) 6.6(=12)
3¢ 1. 2) 6( 1 S5) Se20=18) 843(-13) 242(=12) 3¢6(~12) 5.0(=12) 6:3(=12) 7.5(=12) E€.5(=12)
3t 1. 29 ¢ 1. 7) Lod(=14) 5.3(=13) 1eB(~12) 3.4(-12) 4¢9(-12) 6.,2(~12) 7.4(~12) @e4(~12)
A e 2) 77 1. & 168(-15) 1e34(=~13) Se6(~13) 1e2(~12) 1+9(=12) 2.6(-12) 3.3(-12) 4.0(=12)
3( 1. 2) et 1, 8) 245U-16)  4.9(=14) FeB(-13) 647(=13) 1+1(=12) 1:6(=12) 2.1(=12) 2.5(-12)
1. 2) el 1. 7) 4e7(=17) 1e1(=14) €.8(-14) 1.8(=13) 3.5(~13) Se7(=13) B8.3(~13) 1e1(=12)
3C 1o 2) 30 3. 1) Je€(~-16) 4o1(=14) Gei(=12) S.0(=13) B8.4(=13) 1+2(~12) 1.6(=12) 1.9(~12)
3t 1. 2) 3 2. O) 2e8(=16) 3.0(=14) 1.5(-12) 3.5(-13) 5.8(~13) 8e2(=13) Jol1(=12) 1.3(=12)
3¢ 1. 2) af 30 2) Fe2=17) 2.2(-148) 1.8(=132) 3e7(=13) 6¢7(=13) 1.0(=12) 1.4(=12) 1.,8(=12)
IC 1 2) 4t 3. D 448(=17) 1ell=14) Te3(~14) 2.0(=13) 3.7(=13}) Se7(=13) 7.,9(=13) 1.0(=12)
I 1. 2) S5 3. 3 1o1(=17) S.8(=15) 4.S(~14) 1:.5(=13) 2.9(=13) 4.7(=13) 6.6(~13) B8.7(~13)
3 1. 2) 5¢ 3 &) 1e6(=17) 9:5(=15) 7:6(=14) 2.2(~13) @ed(=13) 6¢9(=13) 9.,8{=13) 1.3(~-12)
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TABLE 4A—Continued

F INAL

10,0 K

INITIAL 2040 K 3C.0 x 40.0 K 50.0 K 60.0 K 70.0 K 80.0 X

ol 1o &) i¢ 1. 1) Lell=11) 160(=11) 1e0(=11) 1e0(~11) 1loll=12) Bell=11) 1e1(=11) 11ei(=11)
4l 1. ) 1 1 € eI =12) Te8(~12) CoEB(=12) 6.7(-12) 6.:8(~12) 7.0(=12) TF.1(=12) 7+3(=-12)
4l L4 &) 2¢ 1. 2) LeS(=11) 1e2(=11) 1e2(=313 1e3(~11) 1+8(=11) 15(=11) 1e5(=-11) 1.6(-11)
AL 1. &) 20 1. 1) 1680=11) 1460010 13(=11) 158310 1e5(=11) 1eSC=11) 1eS(=13) 1e5(~11)
40 1y &) 3¢ e N SeS5(=11) 4e9(=11) 4A:8(=11) 4.8(-11) 4.9(=11) 4,9(~-11) 4.9(~11) a.5(=-11)
4l 1 &) 30 1. 2) 3efl=021) 260¢=110 2e?(=il) La7(=011) Le7(=20) 17(=11) 1e7(~11) Le7C(=-11)
ol 1y &) a0 1y ) Te9M~12) 9e4(=12) Se8(=12) 9:81{~=12) 9:.9(=12) 1+0(=11) 1.0(-11) 1.1(=11}
al 1e &) St 1+ S) PeSU=12) 243(~11) 242(=11) 3.8(=11) 4,2(=11) 4.5(=11) A,€&(-11) S5.0(~-11)
al 10 &) S le &) 2e0(=12) 4:8(=12) €o3I(=12) TeT(=12) 8+9(=12) 1.00(=11) 11(=11) LReZ(=11)
el 1. &) ol 1+ ¢t) 1eS{=13) 1e7(=12) 2.€&(=12) Se7(=12) 7.7(=12) 9+6(~12) L+1(=11) 143(-11)
4l 1e A4} 6l 1¢ 5) 1eCl~143) €46(=13) 147(=12) 2:8(~12) 3I:0(=12) 3e5(-12) 3e9(~12) 4.3(~-12)
a0 1¢ &) 7€ 1. ) 202(=14) 4,74(=13) 1e8(~12) 2e8(=12) 3.4(=12) 4:8(=12) 5:3(-12) 6Ge2(~-12)
40 1+ &) T( Le 6) 6.10~15) 2.4(=13) 7.8(-13) 1.8(=12) 2.1(=12) 2.7(-12) 3.3(=-12) 2n.€(-12)
4l 1+ &) 8l 1. B) 6eS(=1€) 6.7(~14) 241(-13) 646(~=13) 140(=12) 1.4(=12) 1.8(-12) 2.2(-12)
4l 1e ) 8t Ly ?) Le€(~16) 2+1(~18) 161{=12) 246(=13) 4+4(=13) 6.4(=13) 8,5(~13) 1lel(=-12)
4 1 &) 3¢ 3 1) €edl=16) 3ea(=14) 1ea(~13) 2.9(=13) 4.:6(=13) 6e8(=13) 8,2(-13) 1,0(-12)
al 1s &) 3¢ 3. 0) Sel(=1€0 3e4(=-14) 1.5(=13) 3.3(~13) S.:3(=13) 7.3(-13) 9.3(-13) 1.1(-12)
4 1o &) 40 3. 2) 1eS5(=16) 2.0(~14) 1el(=12) 2:6(=13) 4+6(~13) 6.7(~13) B.8(-13) 1.1(=-12)
40 1. &) o 3, 1) 3e€L~16) 4.8(-14) Ze2(~13) Se0(~13) Hed(=13) 1e2(~12) 1e5(=12) 1.9(=12)
ol 1o &) S( 3. 3) 400(=17) Jeld=14) 2:3(~18) 1e9(~13) 3.4(-13) S.0(-13) 6.6(~-11) E.2(-13)
el Lo &) St 3, &) BoZU=1T7) 246(=14) 1e9(=12) Se1(=13) 9,6(=13) 1:5(=12) 2.,0(-12) 2.€{(~-12)
4C 1+ 3) il 1) 1e?0=12) 263(=12) Ze8(~12) 3¢3(-12) 3.7(-12) 4.1(~12) 4.5(-12) 4,%(~12)
e 1, 3) ¢ 1, 0} 1eCl=12) 168(-12) 1+S(~12) 2e3(=12) 2.7(=12) 3e0(=12) 3eI=-12) 345(=12)
o0 3y J) 2¢ 1+ 2) 2eS(=12) 3+6(-12) 4e1(-12) 4.4(=12) 4.8(~12) S.2(~-12) 5.5(~12) S.9(-12)
4 1s 3) 2¢ 1s 1) Bel(=12) 1¢00(=11) 1e2(=11) 1e3(=11) Loea4{~=11) 1e5(=11) 1+6(~11) 12s7(=11)
e 1o 3) 30 1. ) 8e3(=12) 9¢6(=12) 1eC(=11) Lolf~=18) Le2(~=11) 1a3(=11) 1s3(=11) 1.8(-11)
ol e ) 3H e 2) Jell=11) 3e7(=14) 2:S(=11) 4:0(=11) 4,0(-11) 4.t(=11) 4oi(=11) 4sl(-1})
4 10 J) 4l 1o W) 1eCl=11) 1el(=11) 1.0(=11) 1¢0€=11) 1+0¢(=11) 1el(=11) loll=11) ts1(=11)
4 1e 3) S 1 5) Je8(=12) 6+8(=12) Se0(=12) 1e0(=11) 1.2(=12) 1e2¢(=11) 13(=11) 1+3(=11)
40 1 ) St 1s &) Qe7l=12) 242(=11) 2.C(=11) 3e6(=il) 3e9(=11) 4,2(=11) 4ea(=11) 4aus5(=11)
e 10 3) 6( 1,y &) GeS{=12) 343(=12) €eZ(=12) BeS(~12) 1s0(=11) 1e2(=11}) 1+3(=~11) 1.8(-11)
a{ 1o 3) 61 le S) Se2(=13) 3e7(=12) Tel(=12) 104110 1e3(=11) 1aS(=11) 1e7(=11) 1e9(=11)
4 Lo I) M 1, 7 3e7(=14) 6¢5(=13) 1e7(~12) 2.8(~12) 3I8L{-12) 4e6(=12} Se3(=12) 6.+0(=12)
al 1. 2 2 1, &) 1e8(~18) Sel(=13) 1e7{=12) 302(~12) &.7(~12) 6.2(=12) 7.6(-12) €,9(-12)
4 Le 3) et 1. &) 261(=15) 2.0(=13) SeC(=12) 1e9(=12) 2:9(=12) 3Ie9(~12) 6,8(-12) £.6(=-12)
ol 1y 3) 8l 1. 7} Se€l=1€) 6e31=14) 26C(=12) 6+8(~13) 1Loll=12) 1+5(=12) 2,0¢(-12) 2.4(-12)
4 1s ) 3¢ 3, 1 Fe€(~16) Se3{~14) 222(=13) 4.S(~13) 7T.1{~13) 9e7(=13) 1+2(=12) 1:8(~12)
4 te B 3¢ 3, 0) 1e9(~15) 1a1(=13) 4.3(~13) 8.6(~13) 1+3{(=12) 1:8(=12) 2.,2(~12) 2.6(~12)
a0 1. 3) 40 3, 2) 1eS(=16) 1+9(=18) 1s1(=12) 2:.8(=13) Se0(=13) 7+5(~13) 1.0(~12) 1.3(~12)
4( 1. 3) a0 3. 1) LeS(=16) 2+2(~14) 1s1(=12) 2.7(=13) 4s6(=13) 6.8(=13) 9,0(~13) tel(=12)
a4l 1o 3) ¢ 3, ) 7e3(=17) 1481(=14) 1:2¢(~132) 3:1(=13) S5.7{=13) La7(=13) 1+2(=12) 1.5(-12)
4 s 3) S( 3¢ &) JeS(=17) 8.8(=15) L.€{-14) 1+8(=13) 2+5(~13) 3.8(~-13) 5.0(=13) ¢€,3(=13)
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TABLE 4A—Continued

INITLAL FINAL 1.0 x 20.0 K 30.0 X 0.0 K 5040 K 60,0 K 70.0 K 80.¢ X
St 1. B) - 14 1s 1} 3e1(=12) 2.8(~12) 2.8(-12) 2.9(=12) 3.0(-12) I 1{~12) 3.2(~12) 3.M-12)
SC1s 8) - 1C 1y 0} Pe7(=12) 9.5(=12} $.8(=12) 9:9¢=12) 1.0(=11) 1.0(=11) 1.0(=13) 1.0(=41)
51, 5 - 20 1, 2} Be1(=12) 7.6(=12) 7.8(~12) 8.3(=12} B8.8(=12) 9.2(~12) 9.6(~12) 1.0¢(=11}
SC1e 5) = 2C 1 1} 6:8(~12) 6e1(~12} €eC(=12) 6,0(~12)} 6.1(=12) 6.1(=12) 6.2(~12) 6.2(=12)
SC 1s S) = 30 1y 3) 706(=12) Be2(=12) $o4(~=12) 1ell=11) 142(=11) 1e3(=11) 1.3(~11) 1edt=11)
S 1. S} = 30 1, 2) 1e5(=11) 1.40=11] 1e4(=11} 1e8(=11) 1.54=11) 1e5(=11) 1.5(=11) 1.6(=11)
SC e 53 = 4( 1. 4) 8o2(=11) @e3(~11) 4aS(=11) acTi=11) 4.8(~11) 4:9¢~11) 5.0(=11) S.0(=11)
S le 5}~ 40 1, ) Le2(=14) 1420110 1e2¢=11) 142(=31) 13{=11) 13(~11) 13=11) 1e3(~11)
SL 1, 5) = St 1, &) TeE(=12) 7.6(=12) 7.8(~12) 8.1(~12} B.4(-12) B8.6(=12) 9.0(-12) 9.3(-12)
SC 4y S) - 60 1. 6) Se4(-12) 1+8(=11) Ze7(=11) 3:3(=11) 3.7(~11) 4.0(=11) 4e2(-11) 4.31=11)
SC Ly 5) - B¢ 1, 5) 1e10=12) 3.8(~12) %.€(=12) 6+9(~42} B8.0(=12) 8.9(~12) 9.,6(~12) 1.0(=11)
S 10 51 = 7¢C s W) 1a34=13)  1e10=12} 2+8(=12) 3.9(=12) 5.2(-12) 6.4(=-12) 7.5(=12) E€.7(~12)
S 1+ 5) =70 1y 6F 3.C(-18) 4oT(=13) 1e1(=12) 1+7(=12) 2.2(=12) 2.6(~12) 2.9(=12) 3I.2(~12)
5C te ) - 8( Ly 8} 5.2(~15) 2.5(-13} $e1(=123) 1.8(=12) 2.7(-12) 3.7(~12) 4. 7(-12) 5.6(~12)
5( e S)-8L L 7} 2.6(=15) 1.4(~13) 2.C(=12) 9e6(=13} 1e4{-12) 1.9(=12) 2.3(~12) 2.8(-12}
SC 1 8) - 3( 3 3.6(=15) Be8(-14) Ze7(~13) 4.7(=13} 6.7(-13) B8.4(-13) 1.0(-12) 1.1(~-12)
SC 1s 5) = 30 3. O 4e4(~15) 1e2(=13) 247(~13) 6¢6(=13) 9.4(=13) 1.2(-12) 1.4(=12) 1.60-12)
SC I &) - 4 3, 2) 1el(=15) Se7(~14) Ze3(=13) 4.8(=13) 7.6{=13) 1.1¢=12) 1.4(=12) 1.7(-12)
5 ke 5) - 4C 3. 1) 142(=15)  6.6(~148) Z47(=13) S.6(~13) 8.8(=13) 1.2(=12) 1.5(=12) 1.8(-12)
SC 1. & st 3. 3 1620-161 1e7(=14) $eCi~-14) 2.2(~13} 3.8(=13) S5.6{~13) 7.5{-12) 9.5(-13)
SC 1. 5) - SC 3, 2) S5e2(=1€) 06.7(~14) 245(=13) Ee3(=13} 1.4(=12) 2.1{=12) 2.7(-12) 32.3(-12)
SC 1s ¢) = 1L &y D 5.5(~13) S.5(=13) €e€(-12) 8.06(=13) 9e5(=13) 1e1(-12) 1.2(=12) 1.4(=12)
SC 1s 4) = 1¢ Lo © 10S0=12)  1a7(=12) 1+6(=12) 241(=12) 2.3(~13) 2.5(-12) 2.7(~12) 2.8(-12)
SC1s 4) =2t 1 2) 3.60-12) 3.4(-12) 2.€(~12) 3.9(=12) 4.2(-12) 4.5(-12) 4.8(-12) S.1{-12)
SC 1y 4) = 20 1. D) 4e5(-12) 4.2(-12) 4:6(-12) 5.0(=12) 5.3(-12) 5.6(=12) 5.9(-12) 6.1(=-12)
SC 1, &) - 3t 1, 3) 4.7(-12) 443(=12) 4.4{~12) 4.6(=12) 4.8(~12) 5.0(=12) 5.3(=12) E.5(-12)
SC 1. 4) - 3L 1 2) 1e7(=11) 18(=11)  1eS(=11) 1464=11) 1.7(=11) 1.8{=11) 1e9C(=-11) 2.0(-11)
SC 1s 4) = a4t 1, &) 163(-11) 1.0(~11) 1.0(=11) 2eit=11) 1.k~=11) 1.20=11) Le2(=11) La3(=11)
SC 1y 4) - 40 1y B 4eS(=11) 4.4(=11) 4.5(=11) 4:.6(=11) 4.6(~11) 4.6(=11) 4.7(~11) &.7(-11)
St 1. &) - 5C 1, 5) 1e10=11) Se0(=12) E+8(=12) B8:8(=12) 9.0(=12) 9.2(-12) 9.4(-12) 9.7(~12)
St 1s &) ~ 6L 1, €) 201€-12)  5:6(=12) T.T(=12) 9¢2(=12) 1.0(=11) Loet{=11) 12(-11) §e3({=11)
SC 1. 4) - 60 1s %) 645(=12) 2.0(-11) ZeS(=11) 3.5(=11) 4.0(-11) 4.3(-11) &.5(-11) 4(-11)
SC 1. &) - 7C 1. 7} 30C(-13)  202(~12) 4.5(-12) 6.5(=12) 8.1(=12) 9.4(=12) 1lell=t1) Eel(=11)
5( 1, 4) =70 1. & 107(=12)  2,3(-12)  £.3(=12) 8.1(=12) 1.3:=11) 1.3(-11) 1.5(=11) Le7{~11)
S 1. 4) = 8¢ 1, &) 9:40-15)  3.6(~13) 1:il=12) 2.1(=12) 2.9(=12) 3.7(~12) 4.4(-12) S.0(~-12)
S5C 1s 4) =~ 8¢ 10 7) 7.5(=15) 3.3(-13) 1.2(=12) 2¢24=12) 3.30-12) 4.44=12) 5,5(~12) 6.5(~12)
SC 1, 4) = 3C 3, 1 1o1(=14)  2.5(=13)  7.6(=33) 1.3{=12) 1.9(=12) 2.4(-12) 2.8(-12) 3.2(-12)
5( 1+ 4) = 3C 3, 0) bell=15) 143(=13) 2.7(=13) 6e4(~13) 9.2(~13) 1.2(-12) 1.81=12) 1.6(-12}
SC 1. 4) -~ 40 3, 2 Bel(=16) 43(=18) 1.7(=12) 3.6(=13) 5.T(~13) 7.8(~13) 9.94-13) l.2(-12)
S Ly 4} - 4 3, 1D 1.8(=-15) 8.5(-16) 2.2(=13) 643(=13) 9.8(-13) 1.3(~12) 1.7¢~12) 2.0(~12)
SC 1. 41 =S¢ 3. D 1.80-106) 202(~14) 1.2(=13) 2:9(~=13) Seli=13) 7.7(-13) 1.0(-12} 1+3(-12}
S 1s &) - S 3 2) 3.CL=161 Jo2(-14) 1.5(-13) 3.4(~137 5.6(=13) 7.9(-13) 1.0(-12) 1l.2(=-12)
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TABLE 4A—Continued

ENIT 1AL F INAL 1C.0 K 20.0 K 3Ce0 K 40.0 K $50.0 K 60.0 K 70.0 K 80.C K
6( 1¢ 6) 1C e ) 4e7(=12) Su5(~12) EeT~-12) 5.8(-12) 5.9(=12) 6.04~12) 6.1¢=~12) 6.1(-12)
6{ 1. &) it 1s O 1660=12) 149(=12) 1eS(=12) 1e9(=12) 1e9(~12) §.9(~12) Le9(~12) 1.9¢(~-12)
6( 1. 6) 2( 1o 2) 3.5(-12) 3.9(-12) 3.6(~12) 3,9(-12) Je9{=12) 4,0(=12) 4.0(=12) 4.1(=12)
6( 1+ 6 20 1» 1) 8e5(=12) 1.00(=11) 1eC(=11) 2el(~11} 1al(=11) Boll=11) leld=11) l.l(=-11)
6L 1. €6) 30 1 2) S5e8(-12) 7¢1(-12) 7.80~-12) 8.6(=12} 9.1{~12) 9.7(~12) LeO4(~11) 1,1(=11)
6L 4e 6) 3t e 20 SeS(=12) 642(-12) €a3(-12) 6+31=12) 6.4({~12) 6.a(=-12) 645¢(~12) 6,6(=-12)
6l 1+ 6) 4l 1v V) 566(=12) 7+4(~121 €o7(~12) 9e9(=12) Lel(=11) 1.2(=11) 1e3C(~11) 1.85(=11)
6l 1. 6) 40 1, ) Tel€=11) 1e3(=11) 1leal=11) 1.48=13) 1.8(=-11) 1e5(=11) 145(-11) 1eSt-11)
6l 1, 6) E( 1, 5) 3eS(=11) 4e2(-11) 4e&(=11) 4.60=11) 4.7(=11) &e?(=11) 4.7(-11) 4.7(=-11)
6l 1. &) St 1. @) 9e4l{~-12) 1.li-11) 1elb=11) 1e2(-11) Le2(=~81) 1e3(=11) 1¢3(=-11) 1+3(=-11)
6L 1. 6} 6l 1» 5) Ge8(~12) EeT(~12) €42(~12) 6.,4(~12) 6.6(-12) 6e7(=12) 6.8(-12) €.5(=~12)
6l 1+ 6) M 1. 7 S06(=12) 146(=11) Zo%5(=11) 34i(~11) 3.6(-11) J.9€(-11) A.2(-11) &.ai=-11)
6( 1. 61 7( 1. 6) 4e5(=13) 248(-12) 4e7(~12) 641(~12) 7.3(-12} B8.2(~12) "9 1(-12) S.B(=-12)
6C Ly 6) 8l 1» 8) Je€(~14) 6.6(-13) 148(=22) 341(=12) @43(=12}) 5.6(-12) 6.9(~12) E.l1(~12)}
6( 1. 6} a( 1. 7) 1e9(=04) 345(-13) Sel(=13) 1.5(=12) 2.0(~12} 2.4(-12) 2.8(-12) J3.il=-12)
6l 1s 6} 3C 3 1) 3e7-18)  340(~-13) €eC(=13) 1.2(=12) 1.S5(~12) 1eB8l~12) 2.0~=13) 2.3(=-12}
6( 4o 6) 3 3, O 2+5(-14) 2,4(=13) £.4(=13) B.3~-13) 1a1(=12) §.3(~12) 1eS(=-12} 1e?(=~12)
60 L. 6) 4l 3. 2) FeCl-1S) 1:8(-13) E.i(=12) 9.0(=13) 1.3(-12) 1e7(=-12) 2.0(=-12) 2.8(=-12)
6( 1, 6) a0 3, 1) Se2l=15) 142(~-13) 4eC(~13) 746(=13) 1.,2(-12) 166012} 149(-13) 2.3(=12)
6( 1. 6) 5( 3o 2) 21 =15)  1e0(=13) 2,8(=13) 7.5(=13} 1.2(-12) 1e6(~12) 2.0(~12) 2.4(=-12)
64 1+ 6) 5¢ 3. 2) 1eS8(-15) 609(=18) Z.€(=13) S,4{-13) 8.7(-13) le2(=12) 1.6(-12) 2,0(-12)
6( 1s S) 1¢ 1 1) 5e5(=12) 6e4(-13) T.3~13) Be@(=13) 9¢6(-13) 1e1(~12) le2(-12) 1e3(=12)
64 1+ S) ¢ 1e C) 4030~13) Aca(-12) 4.S(=12) 6.9(~13) 7.0(-13} Bet{~13) 9.8(~-13} Jell-12)
6( te S) 2( 1» &) 7eS(-13) 9+2(-13) 1.1(-12) 1e2(=12) 1+4(-12) 1e5(~12) 1.6(~-12)} 1.8(~12)
6¢ 1, §5) 2¢ 1» 1) 2.7(-12) 248(=12) 2,1(~12) 3,3(=12) 3,5(~-12) 3e7(=12) 3.9(-12) al(=-12)
6( 1, S) 3¢ 1» 3} 4.10-12) 4,2(-12) 4. ~12) 4.5(=12) &.7(=12) %e9(=12) 3,.1{~12) %£,3(-12)
6L 1y 5) 30 1, 2) 6e4{=12) 627(=12) Toll=12) 7.,6(~12) 8.,0(-12) 8e4(=12) B.7(-12) 9.1{~-12)
60 1« 5) 40 1. &) 4e9( =122 4.9(-12) 4.8(~12) 4:8(=12) 4.8(~12) #.9(~12} 4.9{~12) B.0(-12)
61 1+ 5) af 1s ) LeS{=11) 1.9(-11) 1eS{=11) 1e9(~11) 1e9(=11) 2.0(=11) 2.0(-31) 241(~11)
6l 1. & St 1, &) Le2¢-11) leld=11) Lell=11) 1Lell(=11) 1ed€=11) 1.1(~11) le2(=11) 11e2(-11)
60 1¢ S5} SC 1. 4) 4eB(=-11) Se0(~-11) Sedt~i1) Sel(=11) Se.2(~11) S.2(~-11) S.2(-11) S.,2(=11)
6 1o S) 6l 1. 6) Teld=-12) 7.3(-12) 208(=12) T7e21=12) T+2(=12) 7e3(=12) 7.3(-12) 7.4(~-12)
6( 1. 8) 70 1. 7) 2e1(~12) S.0(=12) €o7(=12) Te9(=12) B.7(=12) Fe8(=12) 9.9(-12) 1e0(-11)
6l 1, 85) 7{ 1. 6) Jell=12) 1e5(=11) Zo%C(=~11) 3e2(=11) 3.7(-11) 4.0(=11) 4.3(~11) 4.S(=-11)
6l 1+ S) el 1+ 8) Loll=13) 148(=12) 2.1(-12) 4e7(-12) 5.9(=12) 7.0(=12) Te9(=12) BJ6(-12)
6 1+ &) 8l 1. 7) Lelf=13) 1e6(~12) 4.0(~12) 6.2(~12) B8.1(=12) 9,9(-12) Le2(=11) 1e3(~-11)
6( 1. 5) 3 3. 1 o7 -14) 2.7(~13) £.6(=13) 8.5(~43) 1.1(~12) 1ed4(=12) 1.6(-12) 1.8(=-12)
6¢ 1o 5) 3 3y 0) Seal~14) 4,5(-13) 1e0(-12) 1+6(=12) 241(=12) 2.6(~12) 3¢1(=12) 3.5(-12)
&l 1, €) 4t 3, 2) 2e3(~14) 3.9(-13) 1eC{=12) 146(=12) 2.2(~12) 2.7(-i2) 3.3{=12) 3.5(=~12)
6l 1+ S5) 4 3, 1) 162(=14) 240(~13) £.3{~13) 8:8(=13) 1.2(=12) 1.,5(~12) 1e7{~12) 2.0(-12)
6t 1. S) St 3. ) Le?(=15) 6¢7(~14) Z.4(=12) 4¢8(=13) 7.3(=13) 9.,8(-13) [+2(=12) 1e8(~-12)
6( ks 5) §C 3. 2) 2+8(=15) 843(-14) 2.0(~=13) S5.8(=13) 8.9(-13) le2(~12) 1e8(=12) 1.8(-12)
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TABLE 4A—Continued

INIT IAL F INAL 10.¢ K 20.0 x 3C.0 K 40.0 K 50,0 K 6040 K 7040 K 80.0 X

TC1e 70 - 1€ 1y B 1eS(=12) 1a7(=32) 1.74-12) 1,61=12) 1.6(=12) 1e6(~12) 1¢5(=12) 1¢5(-12)
TC1e 70 = 1( 1s O} 2060=12) 2.7(~12) 2e7(=12) 2¢8(=12) 2+8(=42) 248(~12) 2+8(-13) 2.8(=12)
TCle 7) = 20 1s 2 6e8(-12) 644(-12) €43(~12) 6.3(=12) 6.2(=12) 662(-12) 6.1(~12) 6+2(-12)
70 0e 7) - 20 24 1) 3e10=12) 340(-12) 2.0(=12) 3.0(=12) 3.0(-12) 3e1(-12) 3.1(-12) 3el(=-12)
TC 3 70 = 3 1e B 3.9(=12) 3.7(=12) 2.€(=12) 3.7(-12) 3.8(-12) 3.9(-12) 4.0(-12) 4e1(~12)
TC 1o 7) - 3C 1s 2 Gea{=12) 9.5(=12) Se7(=12) 9¢8(-12) 9.8(=12) 9.8(-12) 9.8(-12) 9.8(~12)
T 1s 70 - 40 1y &) SeE(=12) 5.9M=12) €+2(=12) 6+6(=12) 609(=12) 7:3(-12) 7.6(-12) 2.9(=12)
TU1e 70 - &40 1 3 TeT=12) Te2(=12) Fe2(=12) Te3l=~12) Te3(~52) 7e3(~12) T+4(=12) Tea(~-12}
TC Le 70 - SL 1, S) 6e7(=12) 7.3(-12) 2.6(=12) 8¢5(=12) 9¢1(=12) 9e7(~12) 1.0(=11) 1eb(~11)
7C 1e 70 - SC 1. &) 131110 4+20=11)  1.3(=11) 1.3€=11) 1.3H=11) fe8l=01) L.4(=11) 1ea(~-11)
7C 1, 7) - 60 14 6) 4e3(=11) 4e5(=11) 4e7(=11) #e9(=11) S5.0(=11) 5.0(=41} S.1{=11) Sell-11)
7C1e 7) = 6C 1y S) 1.2(=11) 1ed(=15) 1el(=11) 1e1(=18) Bell=11) Bol(=11) lel(=11) 1el(=11)
TC e 7Y - 7C 1, 6) 203(=12) 4.2(-12) £.0(~12) Se48-12) SeT(=12) 640(~12) 6.2(-12) 6.5(=-12)
7¢ 1. 7) - 80 1. 8) 2e50-12) 1e3(=11) Ze3(=11) 3.0(=11) 3ea(=11) 3.8(=11) 4si{(~11) 4.3(-11)
TC Le 7) - 8L 1s Aall=12) 2.4(=12) 442(~12) 5.5(~12) 6+6(-12) 7.5(-12) 8,3(~-12) S+1(~-12)
7¢C e 7 - 30 3, 1) 2000=13) 649(=13) 1.2(=12) 1s7(-12) 2,1(=12) 2.5(=12) 2.8(=12) 3.0(-12)
7C 4, 7) - 3C 3, 0) 2e5(=13) 8.4(-13) 1.4(=12) 1+8(=12) 2.2(~12) 2.5(~12) 2.8(~-12) 3,0(-12)
TC 1e 7) - 40 30 2) 7ei(=14) £.a(-13) 1.2(=12) 1.9(-12) 2+5(-12) 3.0(-12) 3.5(~12) 4.0(-12)
70 1 7) - &40 3, 1) S5.8(~18) 3¢5(=13) 7.0(=123) lel(=12) 1+4(-12) 1:7(=12) 2.1{=12) 2e.4(=-12)
TC 1, 7) - SC 3, B) 2.N-14)  3.9(-13) SeB(=-13) 1.6(=12) 2.3(~-12) 2.9(~12) 3.4(~12) 3,9(~12)
TCle 7) = SC 30 2) 1e1=14) 1.5(=13) 4 0{=13) 7.2(-13) Le1(=12) 1.4(-12) 1.8(-12) 2.2(~12)
701s 6) = 10 1 1) SeE(=164) 7.7(-14) 1a0(=13) 1+8(=13) 1:8(=13) 2.3(-13} 2.94-12) 3.5(-13)
70 1s ) - 1C Js Q) 244(=12) 3.5(~13) 4.3(~13) Sel(=13) 6¢1(=12) Te1(=133 B8s1{=13) 9.0(-13)
TC 1. 6) = 2¢ 10 2) 4e5(=13) 6.8(~13) E.4(=13) 9:9(=13) 1+1(=12) 1+3(-12) {1.4(=12) 1.5(-12)
TC 1. 6) = 2¢ 1 &) 4.8(=13) 7.2(-13) S$e2(~13) 1e1(=12) 1:3(-12) Le6(=-12) 148(-12) 2.0(-12)
7C 1 6) - 3( 1y D) Be2(~13) 1.2(=12) 1,4(-32) 1¢6(=12) 1+T(=12) 1+84=12) 1+9(~15) 2.00-12)
7C 1e 6) - 30 s 2) 2.4(-12) 3.3(=12) 3eT7(~12) #.0(-12) 4.3(-12) 4.6(~-12) 4.8(-12) 5,0(~12)
7C 1e 6) - 40 1y &) 3.10-12) 402(=12) 4.5(=12) 4.7(=12) 4.8(=12) 5.0(-12) 5.1¢(=-12) S.3(=12)
TC 1e 6) - 4¢ 1y D) Se6(=12) 7¢9(~12) $eC(=12) 9¢8(=12) 1.0(=11} 1el(=11) Fe2(-11) lez(~11)
7O 1. 60 - 50 4s € eA(=1E). 8s3(~12) 4c8(~12) #.4(-12) 4.4(-12) 4.4(-12) 4.4(-12} 4aca(-12)
7C 1e 6) =~ 5C 1y @) 168(=11) 1e7(=1100 1e9¢=11) 19{=11) 2.0(=-11} 2e1¢=11) 2¢1(-11) 2.2(-11)
7C Lo 6) = 6( 1y 6) Be7(=12) Lal(=11) 1e1(=11) 1e1(=11) 1e2(=11} 1a2(=11) 1e2(=11} 1e2¢=11)
70 1s €) - 6 1y 5) 3.4(=110 406(~11) £eCi=11) S5.2(=11) 5.3(=11) S:3(~11) Ss4(=11) Sca(=11)
e 6) = 7C 1s D) $.4(=12) 5.8(=12) €+2(-12) 6.4(-12) 6.5(~12) 6.6(=12) 6.8{~12) 7T.0{-12)
7C 1. 6) - 8( 1, 8) 1e0(=12) 450(=12) €eC(=12} 7e3(~12) B.4(=12) 9e3(~12) 1.0(=11) 1ell~11}
TC le 60 =~ 8C 1s T) 3e3(=12) 15(=11) Ze4(=11) 3.0(=11) 3.5(~11) 4.0(~211) 4.3(=-11) 4.6(=-11}
7C 1e 6) - 3C 3 M} 3.40-13) 7.9(=13) 1.3(=12) 1:e7(=12) 2¢2(=12) 2.7(~12) 3Io1(-12) 3¢5(-12}
7€ 1, 6) - 3C 3, O) 206(=13) SeS5(~13) Te€(~13} 1.0(-12) 1.2(-12) 1eal-12) 1.6(-12) 1.8(-12}
7C 1. 6) - 4 30 2) 1.8(=13) €e8(~13} 1.85(~-12) 2.0(~12) 2.4(-12) 2.8(=12) 3.0(~12) I 3(-12)
U 1. 6) - 40 3 1) 2.6(~13) 1.3(=12) £.3(=12) 3.2(=12) 3.9(=12) 4.4(~-12) 4:9(~12) S.a(~12}
7L 1e 6) = S0 30 D 4,4(~14) 8.7(~13) 1s1{=12) 1.7(=12) 2.3-12) 2.8(=12) 3IJ.2(-12} 3I.?7{-12)
TL 1e €) - 5C 3, 2) 2.9(=14) 3.1(=13) 7.C(=13) 1e1(=12) 1.5(=12) 1:9€(=12) 2.3(-12) 2.6(-12)
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TABLE 4A—Continued

INIT TAL F INAL 10.C K 2040 K 3C.0 K 40.0 K $0.0 K 60.0 K 70.0 K 80.0 K

&8l 1, 8} 1t 1 1) Loll=12) 1ea(~12) l1ea(=12) 1e5(=12) 1e5(-12) 1e5(=12) 1,:5(=12) 1.5(=-12)
8{ le 8} 1¢ 1« © €ell~13) G49(~13) S$Se5(-12} 9e6(~13) 93(=13) 9e1(=13) 9.0(-13) S.0{-13)
8l 1« 8) 2 1. 2 Lel(-12) 1e4(~-12) 166€(=12) 1:68(~12) 1.9(-12} 2.0(~12) 2.K~12) 2.1(-12)}
8¢ 1., 8) 2¢ 1 1) 260(=12) 2e7(=12) 2.5(-12}) 3,0(=12) 3e1{=12} 3Ieil{=12) 3+11-12) 3s1(-12}
8l 1 8} 3¢ 1s 3} F3eS(=12) 4e6(~-12) 4s€(~12) 4e9(-12) 4.9(=142) S5.0(-12) S5S.0(-12) L.1({~-12)
el 1, 8) A 1. 22 203(=12) 3.0(~12) 202(=12) 3e4(=12) 3IeS5(=12) Je6(=12) 3.6(=12) 3Je7(~12)
8( 1., 8) 4t 1 & 263(=12) 2.9(~12) 20(=12) Ie1i~12) 3.20(-12) 3.3{(-12) 3.4(-12) 3.5(~-12)
8l 1. &) 40 1+ N Se7(=12) 2.7(~22) £e2(-12) BeS(~12) Be6(=12) 8.6(~12) B8.€(~12) E&E.7(~12)
8¢ 1, 8} St 1s S) Gell~12) 546(=12) €+3{~12) 6+8(~12) Tea(~1&) T49(=12) B8.4(~12) E.8(~-12)
a8( 1, 8) St i» &) S5e2(=12) 647(=12) e2(~12) Te2{=12) Te¢3(-12) 7.4(~=12) To8l=~12) ?2.5(~12)
8l 1. 8) 6( 1, 6} 4o8(=12) 644(=-12) Fo0(=12) B8e3(=12) 9,2(-12) 1.0(-11) led(~18) 1es2(=11)
8t 1y 8} 6( 1, S) el(~=12) deO(-11) la =11} el€=11) 1el¢~11) lell=11} He2(-11) le2(-11)
8( 1» 8) 7¢ 1. 7) 3020=11) 4e6(=11) AeS¢{=11) Sall=11} S5e2(=-11) Se3(~11}) S5+3(=11) Sed{-11)
8( 1, 6) 7{ 1. €} Tebl=12) 9¢9(-12) 1s0¢=11) lel€=11} 1e1(=31) 1e2(~=1L) tle2i=11) 1.2¢(-11)
8¢ 1. 8) 8 1, 7) 206(=12) 3e9(=12)} 4s3(~12) 4:5(=12} 4.7(=12) 4.8(-12) 4.8(=12) 4.5(~12)
8l e 8) 3 3. 1) BeCl=13) 1e3(~12) 1e?{~12) 2¢1(~12) 2.4(~12) 2.7(=12) 2.91=-12) 3 l(-12)
8¢ 1, 8) 3¢ 3. 0) Te-13) leatl=12) 1e8{-12) 2.,2(~12) 2+6(=12) 2.9(~12}) 3.1(~-12) 3.3(-12)
8( 1, 8) 4l 20 2) Ge0(=13) &e4(-13) LeZ2(=12) 1e9(=12) 19(-12) 2.2(-12) 2+5(-12) 2.8(-12)
8¢ 1. 8) 4t 3, 1) BeS(=131 16(-12) Zs1(=12) 2.8(~12) 2.8(-12) 3.1(=12) 3.3(~12) 3.5(-12)
8l 1+ 8) S5¢ 3, 3) Le?(=13) 7.5{=13}) 1ea4l=12) 2.0(-12} 2.6(=12) 3+2(=12) 3.6{-12) 4.,0(~12)
B( 1» 8) S5t 3 2) 2e2(=~13) E44(~-12) 1le@l(~12) 1e¢8(~12) 241L=12) 2.5(=12) 2.8{=12) 3J.0(-12)
8l 1, 7) [ I T ¥ ] 1e4(~13) 142¢~-13} 1e8(=13) 1.5(=13}) 1+8(=13) 2.1(-13) 2.4¢(~12) 2.8(-13)
8 1, 7) 10 1+ 0) BeB(-14) 7.9(=14) 7.,7{~14) B8.3(=148) 9¢T7{~14) 12(=13) 1e8(=13) 1.6(-1
8( 1« 7 20 1 &) Le2M~13) 1e4(-13) 1ed(=13) 1.6(=13} 1+9(=13) 2,2(=13) 2.,6(-13) 23,0(-13
8( 1. 7) 2 1. 1) Selt=13) S5¢3(=13) Ee6(=12) 6.1(=13) 6Hs7(~13) T.4(-13) 8s1(~13) B8.7(=13}
8l 1. 7) 3C 1. D 645(=13) 7.3(=13) €.C(=12) €,8(=13) 9:8(-13) 1sl(=-12) 1s2(~12) 13(=212)
el 1o 7} 3¢ 1 2) 1eC(=12) 9.9(-13) 18€=12) 1¢1(=12) 1:3(=12) 1e84=12) 1.6(=12) 1.+8(=-12)
8( 1+ 7) 40 1y &) 13(=12) 1le4(-12) Le#(=12) 1e5(=12) 16(=12) 1e7(~12) 1.8(=12) 1e9(=120
a8t 1. 7) aC 1e ) 3e5{=12) 3e7(=12) 2e=1E) 3.7(=12) 38(~12) 3.9(=12) 4.0(-12) 4,1(-12)
8L 1e 7) St 1y €} B.80=12) Q.7(-12) 4.€L=12) 4.5(~12) 4.6(~12) 6,6(-12) 4.7(~12) 4.8(=-12)
8t 1o 7 S¢ 1. ) 9.5(=12) 9Pe8(~12) Sod(=12) 9.6(=12) 9.9(=12) 1.0(=~11) 1el(=11} 1el(=11)
8¢ 1, 7) el 1. &) Sel=12) Seli=12) £.0(=12) 4.9(=12) 4.9(=12) 4,9(-12) 5+0(=12) €.0(~-12)
8l 1+ 7} 6¢( 1. S 1eS(-11) 1494-11) 5eB(=11) 18(=L1) 1e8(=11) 1e9{(=11) 1.9(=11) 2.0(=-11)
8l 1. 1) 7¢ 1y 7} 1e20=11) 142(=11) Le2(=11) 1:2(=11) 1.2¢=11) 1:2(=11} 12(=-11) 1l1.20(-11)
8l 1. 7) 7¢ 1. 6) Se3(=11) Sed(=11) %e85(=11) SeS(=11) 5¢6(=11) S.6(=11) S5e7¢(~-11) S.E(~11)
8l e 7) 8( 1. 8) 65eCl=12) 6.0(=12) 2.7(=12) S5:6(=12) He5(-12) 5.5(-12) 5,5(-12) E£.5(~12)
8C 1+ 7) 3¢ 3, 1) 6e2(=12) 6e34{=13) 7¢2(-123) Bea(~13) 9.8(=-13) 1.1¢(=12) 1.3(~12) 1.4(~-12)
a8l 1e 7) 3¢ 3. O) S5e8(=13) TeM=13) Se?¢=12) 1e63(=12) 146(=12) 1e9(=12) 2+1(~12) 2e4i(-12)
a8l Lo ) 40 30 ) 2e80=12) 2481(=12) 2eM=12) 3eB(=12) 4¢3(=12) 4.7(=12) 5.0(~12) E.3(=12)
8L 1o 7) el 3. 1) 2eZ{~12) 2.8(~12) Z+¢€(-1Z) 2.9(=12) 3:1(=12) 3:8(=-12) 3.6(=-12) 3.8(~12)
8( ke 7) SC 3, J) 708(=13) 1.49(=12) Ze€l=12) 3.2(~12) 3.6(=12) 4+0(=12) 4.3(~12) 4.6(~-12)
8 1e 7) 5S¢ 3. 2) Bel(=132) 263(-12) 2.4(~12) 4e3(=12) 4:9(=12) 5.5(=12} 6.0(~12) 6+2(~12)
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TABLE 4A—Continued

INIT 1AL £ INAL 1€.C K 20.0 K 300 K 40.0 K $0.0 K 60.0 K 70.0 X 80.C K

3 3, 1 1€ 1. 1) 3e0(=12) 245(=12) 245(=12} 2.5(-12) 2+6(=12) 2.7(=12) 2.7(~12) 2.8(-12)
3 3. 1) 1C 1, 0) 1e30=12) 760(=13) £:6{(=12) 5.3(=13} 5.3~13) S¢5(=13) S.7(=13) S.9(~13)
3 3, 1) 2t 1. 2) 2e30~12) 148(-12) 1e7(=12} 1.8(=12) 1.9(=12) 2.,0(=12) 2.8(=12) 2.2(=-12)
3( 3. 1) 2¢ 1 1) 2e5(=12) 2e5(=12) Ze7(~12) 2.8(-12) 2.9(-12) 3.1(=12) 3.2(~12) 3.4(=12)
3 3, 1) 30 1s 2} 263 =121 262(=12) 242(=12) 2.3(=12} 2e41=12) 2.6(~12) 2.7(~-12) 2.8(=-12)
al 3. 1) 3IC A 2 Qoll—12) 4.4(-12) 4eE(=12) S.2(~12) 5.5(=12) S7(=12) 6.0(-12) 6-2(1!2.
30 3, 1) 40 1, &) 208(=12) 266(=12) 2.7(=12) 2.8(~-12) 3.0(=12) 3.2(~12) 3.4(~-12) 3.6(=12)
30 3. 1} 4 1s ) 3e4(=12) 346(-12) 2.8(=~12) 4.2(~12) #.5(~12) 4.71~-12) 4.8{~-12) €.,0(~12)
3C 3, 1) st 1, S) 3e6(-12) 3e5(=12) 24€(~12) 3.7(=12) 3.8(=12) 3.9(=12) 4+0(=12) 4.0(=12)
3¢ 3. 1) S{ 1. &) Te9(=121 €45(-12) Se2(=12) 9.7(=12) 1.0(=11) 10¢(=11) Hold=11) 12.1(=-11)
3¢ 3, 1} 6{( 1. 6} S5e7(=12) 661(=12} €:5(=12) 6¢T(=12}) 6:¢9(=12) Toll{=12) 7.3(=12) 7.4(=12)
3¢ 3, 1) 6l 1e S) 3s€(=12) 3e6(~12}) 245(=~12) $4.2(=12) 4.6(-12) 4.8(=12) 5.1{=12) S.a4(=12)
30 3, 1 7¢ 1 7} 3 ~12) 402(=12) Sol(=12) 6.0(=12) 6¢8(~12) 7.4(-12) 8.0(-12) B.4(-12)
3C 3, 1} 70 1o 0} 3eCl=121 3e4(-12) 4:3(=12) 5.3(=12) 6¢3(=12) 7.2¢(=12) 8.1(=-12) &.9(=-12)
3¢ 3, 1} 8{ 1. 8} LeCl=12) 2e3{=12) 24(=12) 4.3(~12) 5ei(=12) 5.8(=12) 6.4(=12) 7.0(=12)
3¢ 3, 1} 8( 1o 7) 3e4(~13) 7.3(-13) 1e14=12) 1441=-12) 1.8(=12) 241(=12) 2.51~12) 2.8(=12)
3( 3. 1} 3C 3. O Be7(=11) 90(=11) Se2(-11} 9:2(=11) Deil=11} 9,0(=11) 3.9¢(=-11} 8.8(-11)
3¢ 3, 1) 4( 3. 2) Be8(=12) 1+9(-11) ZoS(=11} 2.9(-11) 3Boll(=11) 3e3(=11) 3.S(=11} 3.6(=11)
3 3. 1) “C 30 1) 3e3(=-12) H8e3(-12) 102(=11} 1e8(=11) 1.6(=11} 1e8(=11) 2.0(-11) 2.2(=11)
3¢ 3, 1} 5(C 2 ) SeCl=13) 2¢3(=12) 2e7(=12) 4.9(=12) 5.8(=12) 6+7(=12) 7.,4(-12) €.2(=-12)
3( 3. 1} S 3 2) Seb(=13) 2.9(-12) SeZ(~12) T.0(~12) Be4(=12) 94¢7(=12) Qell=11) Q2¢(-11)
3¢ 3, O) 1€ 1e 1) 803(=13) 343(=12) 2e2(~13) 3:3(=13) 3:5(=13) 3I7(=1I3) 3.,9(=13) &, U{-1D)
3C 3. 0) 1t 1 O) 3eCl=12) 248(=12) 2+8(=12) 3.0(=12) 3.2(=12) 3ea(=12) 3,6(=12) 32.&(-12)
3¢ 3, 0) 2C 1, 2) 1e8l=~12) 260012} Zell(=12) 23(=12) 2.4(=12) 2¢5(~12) 2+6(~12) 2.7(=-12)
30 3, 0} 20 s 1) 2e9( =121 243(=12) Ze8(=12) 2.5(-12) 2.64(=12) 2.7(=12) 247(~12) 2.8(=12)
3C 3. &) 3 1. ) 1e€I=12) 1e7(-12) 148(=12) 2.0(~12) 2¢2(=12) 25(~12) 2e7(=12) 2.8(=)2)
3¢ 3, 0) 3¢ e &) Je2(=12) 3.3(-12) 2e5(-12) 3¢61=12} 3¢8(=12) 3.9(=12) #4.,0(-12) 4¢2(-12)
3 3. O) A0 1o @) 204(=12) 2,6(-12) 2.6(=12) 3.2(=12) 3¢8(=12) 3.7(=12) 3.8(=12) 4.0(=-12)
3C 3., 0} 41 1, 3) Ce€(=-12) 7.2(-12) 17(=12) 8.0({=12) 843(-12) B8e5(~12) B.7(-12) EsS(=-12)
3 3. C} 5C 1+ §) B.4(-12) 4e7(=12) E4C(~12) S¢2(=12) S5.4(=12) SeS(=12) S5.6(=12) Se7(=12)
3( 3. 0} S Ls &) 4:2(-12) 4.2(-12) 4e8{=~12) A7(=12) 4.9(=12) S.1(=12) S.2(-12) S.a(~12)
3(C 3. 0} 6( 1, €} 3e5(=12} #.1(=12) 4.0 ~12) 4.7(~12) 4.9(=12) Sell{=12) S.3~1Z) Sesl(~-12)
3¢ 3. 0) 6( 1, S) Sedl=~12) 6400(-12) 7.C(~12) B8,0(-12) B8.8(=12) 95(=12) 1.0(-11) tall=11)
3C 3. 0) 7C e 7} 4e3(=12) Sel(-12}) €e8(~12) 645(~-12} Tol(=12) 7.6(~12) B8.0(~12) B.3{=12)
3t 3. O) 7¢ 1, €) 2eS(=12) 2+41-12} Ge?(=12) 3e1(=12}1 35(-12) 3.9(=12) 4.3(-12) 4a.7(=-12}
3¢ 3. O) al s &) $e8(=13) 2e4(-12) 3¢6(~12) 4:6(~12) 5.5(-12) 6¢2(~12) 6¢6(=12) 7.5(-12)
3C 3, ) 8( 1, 7) 342(-13) Eos(-12) led(=12) 241(~12) 2.8(-12) 3.5(=12) 4.2(-12) 4.9(~12)
3¢ 3. 0) 3¢ 3. 1) Be7(=11) 9e0(~11) SGe2(=11) 9:2(=11) 9ull=11) 9:0(~11) Be9-11) E&.8(~11)
A 3. O) ol 2, 2} 3e5(~12) B.6{-12) 1e2(=11) 1e5(=11) 147(=11) 1.9(=11) 2.00=11) 2s2{(~-11}
3¢ 3., 0) 4 3, 1) 9e0(=12) 1e9(=11) 2¢%(=11) 2.9(-11) 3e2(=11) 3e4(=11) 3.5(~11) 3I.6(~11)
3C 3., 0) 5 3, ¥ Se4(=13) 2.8(=12) £,1(=12} Te0(=12) Be6(~12) 1.0{(=11) "Lal(=11} 1s2¢(~11}
3t 3. 0) 85C 3, 2 GeT{=13) 2e1(=12) 2:5(~12) 4:5(=12) 5e4(~12) 642(~12) 7.0(-12) 77.7(~12)

333



TABLE 4A—Continued

ENIT IAL FINAL 1CeC K 2040 K 3C.0 K 40.0 K 50.0 K 60,0 K 70.0 K 8040 K

ol 3. 2) i 1. B 1eG(=12) 1.8¢(=12) 1+8(=12) 1:8(=12) 18{=12) 1+8(=52) 1.9(=12) 1.9(=-12)
4l 3, 21 14 1, O) 1o30=18) 142(=12) 242(=12) 1e3(=12) 13(=12) 1e3(=12) 1:3(=12) 1e3(=12)
ef 3. 2) 20 L. &) 4e50212) €e3(=12) 4oH-12) 4.4(=12) 4:5(-12) #.7(-12) 4.9(=12) S,1(=-12)
al 3. 2) 20 1« 1) Lea0=12) 1e5(=~12) 1+€(=12) 1¢6(~=12) 1e74=12) 1+8(=12) 1.8(~12) 1.,9(~12)
4l 3, 2) 3C 1. 3.8(-12) 3.7(=12) 2.6(=12) 3.7(-12) 3e7(=12) 3e8(-12) 3.8(=-12) 2.9(~12)
el 30 2) 3t 1. 2) 3e8l=12) Ie7(~12) 2.9(=12) 4.2(=12) 4.5(=12) 4.8(=12) Sei({=12) 5,3(=12)
40 3. 2) 40 1+ &) e =12) 244(=12) 2.6(~12) 2.9(=12) 3.1(-12) 3:3(=12) 3.4(-12) 3.6(-12)
el 3. 2) 4l 1e 3) 1e7(=12) 2.1(=12) Ze%(~12) 2.9(=12) 3.2(-12) 3.,6(~12) 3.,9(-12) 4.1(=-12)
ol 3, 2) St 1. S) 3e2M(=12) 3.6(=12) 2.8(~=12) 4:2(=12) 4.50~12) 4B(=12) 5.1(~12) S.8(=12)
4t 3, 2) St 1s» &) 180-12) 2,2¢=12) 2.6(~12) 2.80(=12) 3.1(~12) 3.3(-L2) 3.5(-12) 3.7(=-12)
4 3. 22 6{ 3¢ &) Qetl=1c) 4e7(=+12) SEoll~1E) B5.6(-12) 6.0(=12) 6+84(~-12) 6.8B(-12) 72.1(~-12)
a0 30 2) 6l 1. &) Toll=12) Bel(=12) Eo€(=12) 9.0(=12) 93(=12) 9.5(~12) 9+7(=12) 1.0(=-11)
ol 3. 2) 74 e ) J.8(=12) Sell=12) €e2¢(=12) 7e3(~12) 83(~12) 9.0(=12) 97(=12) 1,0(=-11)
a4l 3, 2) 70 1e €) 4:5(=12) 6.0(=-12) €eS(=12) 0e9(=12) Toll=12) 7e8(~-12) 7e6(~12) 7:8(~-12)
4l 30 2) 8l 1, &) 1o8l=12) 2.3(=12) 2e5(=12) 3¢5(~12) 4.2(=12) 447(-12) S5,3(-12) E.8(~=-12)
4 3, 2) 8t 1 M $eE(=12) Sell=12) €eif€~12) 7.0(=12) 79(~12) 8:7(=12) 9e8(-12) 9,9(~-12)
40 3, 2) 3( 3, 1) 2e8(=11) 340(=11) 2eU=11) 3Ie2(=21) 3e2(=11) 3e3(=11) 3o=11) 3.3(-11}
4 3., 2) 3t 3. 0 Tell=11) 130210 FeS(=11) 146(=11) 1e7(=11) 1eB8(=11) 1.9¢(~11) 2,0(=11)
4 3. 23 e 2, 1) 6e3(=11) €eS(=11) ¢oS{~11) 6.4(~-11) 6e4{~11) 6¢3(~11) 6.2(~11) ¢€,2(~11)
4 3, 23 st 3« B TeSU=12) 1e9(=11) 2o?(=11) 302(=31) 3e5(=11) 3.8(~11) 4,0(~11) Aacl(~11)
a4t 3, 2) S 2, 2) Le#4(~12) 4e8(=12) 2.C(~12) 9a1(=12) Del(=F1) 1e3(=11) le@(~11) 1.5(=11)
4( 3. 1) 1C 1o 1) Bedl=120 TeS(-13) 2¢6(=13) 7T.7(~13} 8el{=13) B8:7(~13) 9.a(~13) 1.0(~12)
al 30 1) 1C 1. C) 2e20=14) 2¢3(=12) Z43U1=12) 2.3(=12) 2.3{=12) 2.3(=12) 2.4(=12) 2.5(=12)
4¢ 3. 1) 2 1. 2) $0CL=13} 402(=13) 4e6(-13) 4.8(=13} S5.0(~13) S¢2(=~13) 5.3(=-13) E,8(=13)
4t 3. 1) 2¢ e 1) Je8(-12) 3.9(-12) 4.1(~12) 4:3{=12) 4.5(=12) 4,8(=12) 5.0(=12) =,3(-12)
40 3. 1) 3C 1, J) 2e2l(~12) 302(-12) 2e2(-12) J.3(=12) 3¢3(~12) 3.4(=12) 3.8(-12) 3.5(=-12)
a0 30 1) 3t 1e 2) 1e6(=12} 148(=12) Z240(~12) 2.3(=12) 2.50=12) 2.7(=12) 2.5{(=12) 3.0(=12)
o 3o 1) 4 2y &) Se0(=12) Se¢2(-12) 2¢3(-12) S¢5(=12) B7(~12) 5.,8(=12) 6.0(=12) 6.2(=~12)
4( 3. 1) al e 1) 214121 2.4(=12) Ze€(-12) 2.81=12) 3.0(=12) 3e2(=12) 3.4(=12) 3I.8{=12)
a0 3. 1) St 1. 5) 3e7(=12) Ae1l=12) 4eS{=12) 4:9(-12) S.2(-12) 5.5(=12) S.7{-12) €.0(=12}
ol 3. 1) S( 1 &) Aal0=12) 4.4(-12) 4.2{-12) S5.0(=12} 5.4(=12) S.7(=12) 6.0(=12) 6.4(=12)
40 3. 1 6( Le 6) 2.€(=-12) 3e3(-12) 4.0(=12) 4.7(-12) Se8(~-12) S5.9(~12) 6.4(-12) 6.8(~12)
o 3, 1) 6l 1. S 3e5(=12) 8,2(~12) 4eS(=12) 4.8(~12) 5.0(=12) 5.2(~=12) S.,4(=12) €.6(=12)
4 3. 1) 7( te 1) 205(=12) 3e3(=12) 2.7(-12) 8.2(~12) 47(~12) 5.2(=12) 5.6(=12) €ol1{=~12)
40 3, 1) 7¢ 1. 6) Tell=12) Bo8(~-12) $eS(=12) Jol1(-11) 1all(=11) 1e2(=11) 1e2(-11) 1e3(=11)
a0 3 1) 8( 1. 8) Je4(=12) 4.4(-12) L.1(-12) S5.7(=12) 6.20-12) 6.6(=12) 7.0({=12) ?7.,3(=-12)
40 3. 3} 8( Ly 2 JeS{=12) 4e3(=12) 4.8(=12) 5.3(=12) 5.8(~12) 6:3(~12) B.~12) V.4(~12)
40 3. 1) IC 3. 1 LeC{=11) 1e3¢t~-11) LedC=11) 1e6i=l1} 1a7(=11) 18l~11) 1e9(=11) 2.0(=11)
&l 3. 1) 3( 3, 0} 2:8(=11) 3.01(-11) 2e1(=11) 3e2(=11) 3.3(~11) 3¢3(=11) 3.3(~11) 3.4(~11)
4 3, 1) 40 3, &} Sell=11) €e5(=11) €eS(=11} 6ea(=11) Ge4l(=11) 6¢3(=11) 6.3 (-11) €Ees2(~11)
4 3, 1) S¢ 3, J) Lell=22) 3¢6(=12) £46(=-12) 8e0(~12) 9e¢7(=12) 1s1(=11) 13(=11) fea(~11)
a0 3. 1) St 3. 2) TeI(-12) 1e9(=11) Ze?(=11) 302(=11) 3e5(=11) 3,8(~11) 4,0(=11) 4s2(=11}
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TABLE 4A—Continued

INIT IAL F INAL 10.C K 2040 K 3C0.0 K 40.0 K 5040 K 600 K T7Ce0 K 80.C K

st 3, 3) 1€ 1» 1} 2e0(=12) 1e9¢(=12) 1,8(=12) 1.9(=12) 1.8(~12) 1.8(~12) 1.8(~12) 1.8(-12}
SC 3. ) ¢ 1s C) S+2(=13) 4.4(-13) 2.8{-13}) 3.5(-13) 3.4(-13) 3.3=13) 3.2(-12) 2.MH-13
S5( 3. 3) 2 1. &) 4eC(=12) #.,0(=12) 4,1(=32) 4:2(~12) 4.3(=12) 4:3(~12) 4,.5(-12) 4.6(=-12)
S{ 3. N 2¢ 1o 1} Ge5(=13) 9e1(-13) EeTi~13} 8.51=13) B6(-13) 8.6(~-13) B8.7(~13) E.9(-13)
8¢ 3. 1) 3 1, 3) Ae3(=12) 4e3(=12) 4A.4(~12) @e71-12) 4.9(-12) S.1(-12) S.a(-12) S.6(-12)
S 3, 3) 3t e 1e5(=120 1e9(=12) ZeC(~12) 2.41=12) 2.3(-12) 2.8(=12) 2.5(~12) 2.6(-12)
5C 3. 3 ol 1o &) 2eM=12) 2e6(-12) 2e6(=12) 246(=12) 26(=12) 2.7{=12) 2.7(~12) 2.8(-12)
5 3, 3} 4 3 ) 3e8(=13) 3eB8(-12) 32.6(~12) 4.0(=12) 4.,2(-12) 4:5(~=12) 4.7(-12) S5.0(-12)
5S¢ 3. 3) ¢ 1. 9 Jobl=1i} 2e0(=12) Ze3(=12) 2eal(=12} 2.6(~12) 2.8(=-12) 3.0(~-12) J.2(-12)
5 3, 3) St 1 &) 1eS(—12) 262(=12) Z246(=12) 291=12) 33(-12) 3.6(~-12) 3.5(-12) 4.2(~12)
S¢ 3. ) 6l 1« &) Qe5l=12) 5¢2(=12) S¢5(~12) 5.9(=12) 6.2(=12) 6.6(-12) 6.9(-12) .3-12)
$¢ 3. 3) 6L 1o 5) 2eS(=13) 2¢7(-312) 240(=12) 3312} 3.6(~12) 3.8(=12) 4.0(=12) 4.,1(~12)
st 3, 3) 7C 1 7) GeBl=12) T421-12) 7.6(~12) 8.2(=12)} B8¢7(~12) 9e3(=12) 99.8(=12) 1.0(=-11)
S( 3. 2) TC 1o & S5.7(=12) 0e3(~12} €a8(=12) Te2{(=12) 7T.7{~12) 8.1(-12) 8.5(-12) 8&.8(~-12)
5( 3+ 3) 8l 1. €) 3020120 4elk{=12) 240(=12) Be9(=12) 6.7(~12) Te8l~12) B+0(~-12) E5(~-12)
s 3, ) 8( 1, ) G4l =12} 6.8(=12) Tell=12) T:5(=12) T.9{=12) 8,E(~-12) 8.5(-12) 8.8(~-12)
S5C 3, 3) 3¢ 3 1) 7.8(=12) 649(=12) €EeT(=12) 6:8(=~12) 6.9(-12) Te2(~12) 7To4(~12) 7.7(-12)
S 3. 3) 3¢ 3. 0) BeCl=12) 8¢7(=12) $s3(~12) 9.8(=12) 10(=11) 1el(=11) Tol{=11) De2(=1L1)
$C 3. 3) 4l 3. 2) 3e5C=11) 3o8(=11) 32S(=11) 4.0(=11) 4.i(=11) 4.2(-11) 4.2(=-11) 4.2(-11)
St 3+ 3) 40 3. 1) 5¢C(=12) Toll=12) E47(=12) 1.0{(=11) 1eld=11) Je2(=11) Jo8(=11) 1e5(=-i1)
S 3. 3) St 3. 2) Qe2(~11) 4u5(=11) 4e&(~11) 4.6(=11) #.6(=11) Ge7{(~11) A.7(~-11) 4,7(-11)
5¢( 3. 2) 1 1. 1) 1e3(=12) 1e3(=12) 1e3(=12) 1e3(=12) 13(=12) 13(=12) 1e8(=12) 1.8(~-12)
SC 3. 29 1¢ 1, 0) 2e1(=13) 2.0(=12) 2eCl=12) 240(=12) 2¢1(~12) 2:1(~12) 2.2(~-12) 2.2(-12)
S( 3. 2) 2( 1v 2) 8.2(=123) 4e7(=13) 4,3(=13) 4,1(=13) 4,1(~13) 4,0(=13) 4,0(~-13) 4.0(-13)
5 3. 2) 20 1o 1) 24012} 206(=12) 2e¢5(=12) 2.6(=12) 27(=12) 248(=12) 2.9(-12) 3.0(=-12)
St 3. ) 3(C 1+ 3) 166(=12) 146(=12) 1e7(=12) 1e8(=12) 18(=12) 1.,9(=12) 1+6(=12) 1.9(-12)
St 3. 2) 3¢ 1e 2) 3eM=12) 3e1(=12) 241(=12) 3.2(=12) 3+44~=12) 3:6(=12) 3e7(=12) 39(-12)
S 3. 2) ¢ 1o @) S+6(=12) 6s1(=12) €eS(=12) 7.0(=12) Te5(=12) 7+9(~12) 4d.3(~12) 3.7(°12|
S 3. 2) 4¢ 10 ) 168(=12) 148(=12) 1e8(~12) 1:9(=12) 19(=12) 240{=12) 2.,0(-12) 2.1(~=12)
5 3. 2) 3¢ 1, E) Te€(=12) 842(=12) Eo?{=12) 9¢2(=12) 9e7(=12) 1+0(=11) Llei(=10 lell=-11)
St 3, 2) S5 1. &) 3e2(=12) 3e3(~12) 3e4(=12) 3:5(=120 3+6(=12) 37(=12) 3.8(=12) 3.9(-12)
S 2. 29 6l 1o &) Je6(=12) 246(~12) 268(=12) 4.2(=12) 4:7(=12) Hel(-12) 546{~12) €el(-12)
St 3. 2) 6( 1o & Jell=12) 3¢4(~12) 2e7(=12) &#.0(=12) 4.3(-12) 4,6(=-12) 4.8(-12) Soll-122
St 3. 2) 7 1 D 2.7 ~12) 268(=12) 2e2(=12) 3.6(=12) $1(=12) A:7(-12) Se2(~12) S:7{~12)
$C 3. 2) 7( 1. 6) 348{~12) 4¢ll-12) 4e8(=12) 4.8(-12) 5e2(~12) 5:6(=12) 6.0(-12) €E.a(-22)
S 3. 2) 8( 1. 8 Q=121 4.5(=12) A4.8{~12) 5.2(=12) 5.5(=12) S5e8(~12) 6:1(-12) €os({-12)
SC 3« 2) 8( e 7 6e7(=12) B841(-12) Sel1(=12) 1e0(=11) 1s1(=21) 1ell=11) fs2(-11) te.2(-11}
S$C 3, 2) 3C 3. 1) BeM=12) 9:0(=12) Se8(=12) 9e7(=12) 10(=11) 1+08=11) Zel(~11) 1.0(~-1})
S( 3. 2) 3¢ 3, O 6e5(~12) 6.5(=12) €43(=12) 6¢3(=12) 6¢5(=12) 6.7(~12) 7.0(~12) 7.3(-12)
SO 3. 2) 4t 3 2) 6e6(=12) 8.7(=12) 140(=11) Le2¢=11) 1a3(=11) 1ed(=11) 1e5(-11) 1e6(=11)
S{ 3. 2) 4¢ 30 1) Jea(=11) Ia7C(~217 2e9(=11) 4.0(=110 @e1(=11) 4.2(~11) 4.2(-11) 4.3(-11)
S5¢ 3. 2) SC 3., 4e3l=11) 4e5{=11) 4e€&{~11) &.6(=11) 4.6(=11) 4s7(=11) 4:7(=11) 4&.7(-11)
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TABLE 4B
CoLListioN RATE CONSTANTS (in units of cm? §-1) As A FuNcTION OF KINETIC TEMPERATURE, FOR PARA-H,CO/He

INIT IAL F INAL 100 K 200 X 3Ce0 K 40.0 K $0.0 K 60,0 K 700 K

0( 0, O) LC 6o 1) Toll=11) Se0f~11) SoS{=11) 9:e6(=11i) 9eb(~1ll) 9eS(~11}) 9ea(~-1i1)
0 0, O) 2l 0 2) LeTi=11) 3eS5(=11) A4e?(=11) SeS(=~11) 6s1{=11) 6+6(~-11) 6.9(~11)
0 0. 0) 3t 0. J) 263(~12) 6e5(~12) $e5(~12) 1:2(=11) lea{=11) 1e5(=11) 1e8(~11)
ol 0, 0} el 0y &) l.C‘-l?i Se88=12) 2.0(=12) 8.9(~12) Jel0=11) 1e2(~11) 1.3(-11)
0C 0o O) SC 0, 5) Geb(~14) 2.8(=13) 24CUl=12) 3.3(=12) 4.7{(~12) 6.,2(-12) 7.8(~12)
ot 0s 0O) ol CGs 6) GeSl=16) JeB(=18) 1.8(=12) 340(~13) 5.5(=13) 847(~13) 1.2(~122)
0l 0, 0) 70 0o 7) 202(~16) 344(=14) 1.8(~12) 4,2¢(-13) T0(-13) 1.1(=12) 1.5(-12)
o 0. 0} 8¢ 0. 8) Je2M=17) 6e9(=15) £,2(~14) 1.8(~13) 2.7(=13) 4.0(=~13) S.s8(~-12)
0C 0. 0) 2( 2« 1) 3eE(-18) 4.8(=17) 2e0(=16) 1:6(~16) 2.0(~16) 2.84(-16) 2.8(-16)
0¢ 0. 0) 2l 2v O 4e%(=14) 96130 GeW=12) 4:s7(~12) 6+4(=12) B,0(~12) 9.5(-12)
ol 0. O 3t & 2) 1e7{=18) 34(~17) 242{(=17}) 946(~17) 1e1({=16) 1.2(~16) 1.2(~16)
0 0. O) 3t 2+ 1) 1e20=14) 4.7(=13) 1+5(=12) 2.8(=12) 4.0(~-12) Se2(-12) 6.2¢~12}
0( 0+ O) aC 24 J) 0sCL €C) 0,00 ©) Col{ C) 0400 O) 0.0( O) O0.0( O0) 0.,00 O}
0l 0. 0O) ol 2+ 2) 2eCU=15) 1e7(=13) Vo8(=13) 1:5(=~12) 2e8(=12) 3+3(-12) 4.2(-12)
1€ 00 1) el 0. O Sed(=11) 346(=11) 2:5(=11) 3e5(=11) IJa{=11) 3Ied(~i1) 3,3-11)
1€ 0, 1) 2{ 0, 2) Aal(=11) SeTi~11) €o2(=11) €eS(~11) 6.6(=11) 6e7(~11) 6.7(-11)
1t 00 1) 3 0, ) 4e2(=12) 1e3{-11) Ze0(=11} 2435(=11) 3.0(=11) 3Jea(~-11) 3.7(-1})
1€ 0. 1) 4l 04 &) Te€l=13) 302(-12) 85:5(=12) 7:6(=12) 9.:5(=12) 1lell=11) 1.2(-11)
1{ 0. 1) 5( 0. S) 6e7{=14) B8.6(~13) Zol(=13) 3Ie3(~=12) 4.6(-12) 5e8(-12) 6.%(~12)
1€ 0, 1) 6 0. 6) €oB(=15) 2431=13) Tea(=-12) 1:3(~12) 2.0(=-1Z) 2e71-12) 3:5(-12)
1€ 0o 1) 7C 0o 1) Lel=16) 240(-14) 1.0(~13) 2.3(=13) 3.,9(~-13) S.7(=13) 7.7(~-13)
1L 0. 12 a{ 0., &) 1e6(=17) B.5(-15) €o€(~14) 1.9(=13) 3.8(-13) 6.1(-13) 8.7(-13)
1€ 00 1) 2t 2. 1) 4e€(=164) Be2(~13) Ze2(~12) 3eS5(=12) @7(~12) S5,8(=~12) 6.7(~-12)
0. 1) 2( 2. 0) 3eS(=14) 4.8(~=13) 1.1(=12) 1e7(=12) 2.2(~12) 2.7(-12) 3.0(-12)
1€ 0¢ 1) 3L 2. 2) SeEl=15) 2.08=13) €e4(=13) 1el(=12) 1.6(-12) 2,1(~12) 2.5(-12)
1€ 0, 1) 3C 2. 1 1o5(=14) Q:5(~13) 1s84(~12) 2e5(-12) 36(~12) 4.7(=12) S5.7(-12)
11 0 1) a( 20 D) Tel(-1E) Se0(=~148) 2+C(~12) 4,0(=13) 6+2(~13} 8+4(-13) 1.1(-12)
1€t 0, 1) at 2, 2) SeCl=15) Jel(=13) 162(~12) 248(=12) 3:5(=12) 4.6(-12) H.7(-12)
2¢ 0. 2) ot Oy 0) DeT(=12) 1e2{-11) 1.3(-11) 1lea(=11) 1.5(=11) Q1e6(=11) 1.6(=-11)
2( 0, 2) 1C ¢o 1) 4¢5(=11) 48I=11) Aa?7(=11) 4e7(=11) 4.6(~11) 4.5(~11) @.al~-11)
2t 0+ 2) 3¢ 0, ) 2 ~11) 4,0(~11) 4e?7(=11) Sell~11) Se2(=~11) S5e3(=~11) S.a(~-11)
2( 00 2) 4( 0, &) 260(=12) €491(=12) Lell=11) 1eS(~-11) 1.8(=-11) 241{(=11) 2.3(=-11)
2¢ 00 2) 8¢ 0. S5) 1e7(=13) 146(=12) 2:8(-12) S5¢3(=12) 7.0(~-12) B.7(-12) 1.0{=-11)
2( 0» 2) 6( C» 6) Lel{~14) 2.9(=13) Seli=12) 1+7(=12) 2+5(-12) 33(-12) 4.2(~12)
20 0 2) ¢ 00 M) 162(=15) 1e1(=13) SoCl=12) 1e1(=12) 1.7(=12) 2e4(~12) 3.1(-12)
2( 0, 2) 8¢ 0, 8) Je6(=17) 1el(=14) €s6(=14) 1.6(~13) 3F.5(~13) S.6(~13) 8.2(~-12)
20 00 2) 2(¢ 2+ 1) TeE(~14) Sell=13) iol(=12) 3e2(=12) 4el(=12) 4.9(~12) S.6(~-12)
2( 0, 2) 2 2, 0) Be6(~18) So2(~13) Z240(=~12) 340(~12) 3,8(=12) &.6(~12) S.2(-12)
2( 0o 22 3C 20 2) J2(=14) 7:3{-13) Zel(~12) 3.5(=12) 4.81~12) 6.0(~12) 7.2(-12)
2( 00 2) 3t 2. 1) 2.€(=14) S.0(=13) 13(=12) 241(=12) 2.9¢~12) 3IeS(=12) @e1(~12)
2( 0, 2) 4 2o 3) 643(=15) 248(=-13) Se7{~12) 18(~12) 24¢6{=12) Jo8(=12) 4cli~12)
2t 0, 2 4 20 2) 4¢6(=1S) 1.8{=13) €o1{=12) 1e¢14~12) 1.6(=12) 2+1(=12) 2.6(~12)
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TABLE 4B—Continued

INIT IAL F INAL 1046 K 2040 K 3C.0 K 0.0 K 50,0 K 6040 K 70.0 &
3C 0s 3 - 0( 04 O 2e60=12) 2.6(=12) Ze7{=12) 2.8(=12) 2.9(-12) 3.0(-12) 3e1(-12)
3C 0e 3) = 1C 00 1) 1el{=11) 1e3{=11) 1.5(~11) 1.7¢~113 18(=11) 1:9(=11) 2,0(-13)
3C 04 3) -~ 2( Co 2) 4e6(=11) 4.9(-11) 4.E(-11) 4s7(=11) 4,6(-11) 4.5(=11) 4.S(~-11)
3C 0s 3) = 41 0. &) 1e8(-11) 3e4(=31) 4el(=11) 4.5(=11) 4.7(=11) 4e¢B8(-11) 8.9(-11)
3C 0+ 3) - SL O, 5) Teal=13) 4e18=12) 7.8(=12) 1ell=11) 1.3(=11) 1+6(=11) 1e9(=11)
30 0s 2) - 60 Co 6) Tell~14) 1.0(=12) ZeS5(=12) #21(=12) 5.5(=12) 6.9(=12) B8.%(-12)
3( 0, 3) - 72( 0 7) 1o5(=15) 8.8(-14) 2,€(~13) 7.9(~13) 1e3(=12) 240(=12) 2.7(~-12)
3t 0¢ 3) - 8L Cs 8) 2.6(=16) 4.B(~14) Zo€(=12) 6:3(=13) 1.14=12) 1s7(-12) 2¢3(-12)
3C 0 3) = 20 24 1) Le?(=13) 1.2(-12) 2.3(=12) 3.2(~12) 4.0(~12) 4.6(=12) S.i(-12)
3C 0s 32 - 20 24 O) 3.0(=13) 1.$€=12) 2.6(~12) 4.9(=12) H.8(~12) 6.5(=12) 7.1(-12)
3€ 0y 3) - 3( 24 2) 8e6(~14) 141(-12) 246(=12) 3.9(=12) S,1{~12) 6.0(~-12] 6+9(-12)
30 0s 3) - 30 20 1) Te€{-14) 9.0(=13) 2C{=12) 3.1(=-12) 3.9(-12) 4.8(-12) S.5(=12)
3¢ 0¢ 3) - 4 24 2 2.2(-18) S.9(=13) 1:8(~12) 3.1(=12) 4.8(=12) S,7(=12) 6.9(-12)
300 3) - 41 20 2) 1e8(-14) 2.94-43) 7e8(=13) 1e2(=12) 1+5(=12) 1.8(=12) 241L(-12)
4( O« 4) - OL O, 0O) 3e8(=12) 2¢8(=12) Ze=(=12) 2e8(=12) 2+4(-12) 2.4(-12) 2ea(-12)
4C 00 4) = 1L 04 1) SeS(=12) £.2(=12) £.2(=12) 5.6(=12) 5+9(~12) 6.4(-i2) 6.9(~12)
4C 00 4) = 2¢ 0y 2) 13(=11)  1430=11) leal=11) 1.5¢=11) 1.6(-15) 1e7(-11) 1le8(=11)
4C 0+ 4) = 3(C 0, 3) S5.6(=11) Se3(=11) Sedl=11) #e9(=11) 4:8(=31) @s?(=11) 4.7(-11)
40 0s 4) = SC 0 5) B.0(=12) 2.3(=11) 3.2(=11) 3.7C¢=11) 4.,0(=11) 4.2(-11) a.a(=-11)
4 00 &) - 6( 0, & 4.a(=12) 2.9(=12) €.5(-12) 7.8(=12) 9.9(~12) 1e2(-11) 1l.4l-11)
4( 0. &) =7 00 7) 1e5(=14) SeM=13) 1.6(=12) 2.8(=12) 4.0(~12) Se¢3(-12) 6.5(~12)
40 04 &) - 8( 04 8) AEl-16) 4.4(=14) Z.0{(-12) 4.7(=13) 6+2(=13) 1+2(=-12) 1.6(~12)
4C 0y &) - 2( 24 1) 1010=12) 3.7(-12) €eS(=12) 6+8(=12) 7+6(-12) 8e3(-12) 8+9(~12)
4C 0, 4) - 2C 2, O) Te3(=12) 2.3(=12) 3.4(=12) 4.1(-12) 4.5(~12) 4.9(~12) 5.2(-12)
4 Oc 4) = 3( 2, &) 1e$(=13)  1e30=12) Ze1(~12) 2.8(=12) 3.5(=12) 4.0(-12) #+5(~12)
4¢ 0y 4) = 3¢ 2, 1 3e4(-13) 2.2(=12) 4.0(=12) S¢5(=12) 6.8(-12) 7T.8(-12) B8e¢B(~12)
4l 0 4) - 60 24 ) Se€l=184) 1.2(-12) ZoE(=12) 4.2(~12) S.3(-12) 6.4(-12) 7.3(-12)
4L 0, &) - &( 2, 2) Sel(=14) 1.1€=12) Zeal=12) 3.4(-12) 4.3(-12) S5.2(-12) 5.9(-12)
S( 0s S) ~ OC 04 O) €e31=13) 9eB8(=13) 1.C{=12) 1.1(~12} 1+2(=12) 1e4(=12) 1+5(=12)
€C 0+ S) = 1( Oy 1) 208(=2Z) 2474=12) ZeS(=12) 3e1(~12) 3¢3(~12) 3.6(=-12) 3.B(~-12)
SC 0s 5) - 20 04 2) $e2(=12) 6.0(=12) €o8(=12) 6¢9(=12) 7+41-12) 8+0(=12) 8+6(~12)
S 0, S) = 3C 00 3 1el(=11) 1¢3(=11) leal=11) 3.5(=11) 1e6(=11) 1e74~11) 1+6¢(-11)
S5( Oe 5) — 4( 00 &) JeB{=11) 4eS{=11) Ae?(=11) &e7(=11) #.7(-11) &.6(=11) &s6(-11)
S( 0s 5) - 60 0s 6) Ge€l~12) 240(=11) 2,0(=11) 3.6(=11) 4.0(=-11) 4s3(-i1) 4.6(~11)
50 0y 5) = 70 04 ) 3e50=13) 1.6(-12) 3.8(=12) S.2(=12) 7.2(~12) 9e2(~12) leltl=11)
S¢ 0y S) - 8( 0, 8) 1o2(=14) 4o5(=13) 1.5(=13) 248(=12) 4:3(-12) Se9(=12) 7.5(-12)
SC 0s S) - 2¢ 2o 1) Be2(=12) 3¢9(=12) 4.2(=12) 4.4(-12) 4.7(-12) 4.9(~12) S5.U~12)
S 0s S) - 2¢ 24 O) 4o =12) 6eT(~12) 7.8(=12) B8.5(=12) 9.:0(=12) 9e8(=12) ST{~12)
S 0e S) - 30 2, 2) 1eS(=12) 4.8(-12) €.6(=12) 7.7(-12) B.5(=12) 9+1(=-12) 9.8(-12)
S 0y 5) = 3 20 D 1o40-12) 3.7(=12) 2.8(=12) 5.9(~12) 6.6(=12) 7.1(~12) T+5(=12)
S( 04 5) ~ &0 24 2) 2¢3M=13) 1.3(-12) 2e3(=12) 3.0(~12) 3.6(-12) 4.1(=12) 4.5(~12)
50 0s E) ~ 4( 2. 2) SeS(=12) 301(=12) 2ea(-12) 7.0({=12) 8.2(~12) 9.2(~12) 140(~11)
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TABLE 4B—Continued

INIT IAL - F INAL 1Ce0 K 2040 K 3Ce0 Kk 40,0 K $50.0 X 60,0 K 7040 K

6l 0+ 6) - O O, 0) 1ell=13) 1e2¢=13) 122(=12) 1+5(=13) 18(~13) 2.3(=13) 2,7(~-13)
6{ 0. 6) - 1( 00 1) 1e=12) 1e7(=12) 1e7(=~12) 1.8(~12) 19(~12) 2.,0(~12) 2.2(-12)
6( 0 62 - 20 0 2) 242 ~12) 2.6(=12) 205(=12) 3e1(=12) 3.4(~-12) 3.6(~12) 3,9¢(-12)
6t 0vy 6) - 30 00 ) 7e3(=12) 7:5(=12) 7:8(=12) 8.1(~12) 8.5(~12) 8.:9(-12) 9.4(~12)
6{ Qe 6) -~ &( 0, V) l-Q(-Ii) Lod(=11) latl=11) 1o8(=11) 1+5(~13) 1ebi=11) 1.7(-11)
6 Go 6) -~ S 0. &) $e5(-11) 4.9(=11) S.0{=11) S.1(=11) S.1(=11) Se2(=11) S.2(-11)
6( 0s 6) -~ 7 0 7) Q€(-12) 1e8(=11) 2+8(=-11) 3e8(=11) 3e9(~11) 4:.3(-1L) 4.6(-11)
6( 0o 6) - 8( 0., &) Tol(~14) SoS5(=13) Ze1{=12) 3Ie3I(=12) 4:5(-12} S.7(~12) 6.5(~-12)
6( 0¢ 6) = 2( 24 1) $aT(=12) 506(~12) €oi(=12) 67(=12) 7Ta1(~12) TS5(~12) 7.9(-12)
61 0o 6) - 2( 2, Q) 2eC(=12) 2024(=12) 2eS(=12) 2.7(=12) 3.0(-12) 3.2(=-12) 3.4(-12)
6( 0y 6) - 3¢ 2, 2) 8:2(~12) 0s4(-12) E2I(=12) 0.2(~=12) B8s1{~-12) 8.0(=12) 8.0(~12)
6 0+ &) - 3L 2, 1) Te2(=11) 1+3(=110 1e3(=11) 1e3(=11) 13{-11) 1s3(=11) 1.3¢=-11)
6( 0y 6) - 8( 2, ) 3e5(=12) 243(-12) E£e8({~12) 9:6(=12) 1.0(=11) lall{=11) 1e3(-21)
8¢ 0e 6) ~ &( 2v 2) Jedl=12) 640(=12) :C{~12) 7TaS(=12) 7.68(~12) B.2(~12) 8.5(-12)
7 04 7) - 0L 0. O 2.7(=13) 340(-130 2.14~=13) 3e3(-13) 3.5(-13) 3.8(-13) 4.0(-13)
M 0¢ 73 - 1L 0, V) 4e3(=13) 4.5(=~13) 4.6(~-12) 4.8(~13) Se2(~13) S5.5(=13) 6.0(-12)
74 04 72 = 2¢ 00 &) 2e8{=12) 340(=12) 2.14(=12) 3e1(=12) 3,3(=12) 3Ie8(=12) 3.,7(-12)
7€ 0¢ 7) - 3{ 0, ) Le2(=12) 1+9(-12) Z43(~12) 2.5(=12) 2+9¢(=12) 3Iet(~12) 3.9(-12)
7E O« 7)) « &4( 04 &) 6o3(-12) To8(~12) Fe7(=12) B4l(=~12) Bs5(=12) 9.1{(~12) 9e6(~12)
20 0« 7) - SC 00 &) LeCl=11) lel(=11) 2el(=11) Le2(=11) 13(~11) lesi(~-11) 1.6(-11)
7L 04 7) = 6( 0, ©) SoBI~11) Sed(=11) EeS(=11) S5¢5C(=11) S5.5(~-11) S.6(~-11) S.7(=11)
T 0e 72) ~ 8( 0. &) Seli=12) 240(-11) 2eC(=11) 3:8(=11) 4.08(~11) S.0(-L1) S.4(-11)
T7C€ 0 7) - 2¢C 20 1) 1aSL=12) 2e1(-12) 2+2(-12) 2¢2(~12) 2+2(~128) 2+3(~-12) 2.4(-12)
TE 0 70 = 2 20 O 3e?{=12) Je9(~12) 345(=12) 3Ie9{=12) 4.0(=12) 4,2(=12) 4.3(~-12)
7€ Qs 7)) =~ 3 20 2) Bod{=12) 9.6(~12) S§+8(=12) 948(=12) 9:9(=12) 140(=11) 1.,0(-11)
7€ 0 7) -~ 30 2 1) QeCA=12) 4e3(~12) 4:3(=12) 4¢3(=12) 4.8(=12) 4,5(~12) «4.7(~-12)
7C€ 0s 7) = 6( 20 ) a3 =12) 9:7(~12) Se85(=12) 9e5(~12) 9?7{~12) 1+0(~11) 1.0(~11)
7€ 0 7) = &( 2, 2) Le#{=11) 1e5(=11) 1e4(=11) 1¢4(=11) Le(=11) 1let(=11) 1.44(~-11)
¢ 0. 8) - 0 ©» O) 2¢3(~13) 242(-13) 2¢C(=13) 2.0(=13) 2.0(=13) 1e9¢(=13) 1,9(~-12)
a¢ 0, 82 - 1L 00 D) 645(=13) 6.90-13) €+€(=12) 7.2(~13) 7Te7(~13) 8.3(-13) 8.8(~-12)
8( 0 8) = 2¢( 0. 2) 1e1€=12) 140(=12) S$e2(=13) 9.4(=13) 1.0(-12) 1.1(=12) 1.2(~12)
8¢ 00 8) - 3¢ 00 N Je@(=12) JaTl=12) 2248{~12) 3:6(=12) 3I.7(~12) 4.0({=12) 4.3(-12)
8C 00 8) - 4L 0y 4) 2e8(=12) 242(~12) 2463(=12) 2.8(~12) 2.7(=12) 249(=12) 3Ie2(~}2)
8( 0» 8) - SU 0. E) 1e2(=11) dell=31) JeMH=11) 1e2(~18) 3e2(=11) 143(~11) 1.8(-11)
8( 0+ &) -~ 6( 0. 6) 1¢C(=11) 1e0(=11) Se3L=12) 9ea(=12) 9.9(=12) 1:0(=t1) 1e1(~11)
86( 04 8) -~ 7C 0. 1) TedM=11) Toll=11) €o?{=11) GaT74(~11) 6:8(=11) Te08~11) 7.1(~1t1)
8¢ 0s 8) - 2¢ 2+ 1) ReE(=12) 2¢8(-12) Ze7(-12) 2.8(~12) 2.9(-12) 3.0(=12) 3.2¢0-12}
a8l 0» 8) ~ 2( 2, 0} ReS(=12) 2¢8(-12) 243(=12) 2:2(-12) 2.3(~12) 2e01=12) 2.4(-12)
8¢ 0s 8) - 3C 2+ 2) 243(=12) 2.48=12) 2¢%(=12) 248(~-12) 3.2(~12) 35(~12) 3I8(~-12)
84 00 8) - 3¢ 2. 1) Sed{=12) £42(=12) £40(=12) S¢0{=12) S.1(=12) S¢3(=12) S5.%5(~-12)
84 0» 8) ~ 4C 2. 2) legl~=110 dell=11) leli=11) Qeli=13) 1leli=11) Rell~11) 1sbt-11)
8( 0» 8) - &4( 2, 2) TeCl=12) 647(=12) ¢Co2(~12) 642(~12) 0e2(=12) 6+4(~12) 6+5(-12)
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TABLE 4B—Continued

INET AL F INAL 1€0 K 20.0 K 3C.0 K 40.0 K 5040 K 60,0 K 7040 K
20 20 1) - 0C_00 O 242(=16) 146(=16) 1+4(-16) 1.3(=16) 1:3(~16) 1.3(=16) 1.3(-16)
2 2, 1) 1( 0o 1 €ed(=12) Teal=12) 7.5(=12) 8.2(~12) 8.0(~12) 8.6(=12) B8.,7¢(~12)
2¢ 2¢ 1) = 2¢ 0s 2) 8e7(~12) Sa0(=12) 1eCl=11) 1.04=11) 1,0(=11) telC~11) Lloei(-11)
20 260 1) = 30 04 ) Se2=12)  1.0(=11) deM-11) Be (=11} 1e2(~11) 1e2(~11) le2¢(=11)
2( 24 1) - 4¢ 04 W) LeSU=18) 240(=11) Zeld-11) 2404=31) 242(-11) 2.20=11) 2e2(=11)
20 24 1) = 5S¢ 0, %) 1e20=11) Lel(=11) 1el(=113) 1e2(=13) Bell=11) 1.2(=113 1.2(=11)
20 2+ 1) = 6¢ Os 6) 2:5(-12) 646(-12) $.6(=12) 1+2(=11) 1e3{=11) 1+5{=11) 1.6(~11)
2( 20 1) = 7C 00 7) Le0(~12) Ee5(=13) 1e7U(=12) 2.4(=-12) 3.0(-12) 3.5(=12) 4.l(=12)
20 24 1) - 8( 0, B) 1eCl-14)  3,1(=13) Se8{~12) 21e7(=12) 2e5(=12) 3.3(=12) &,l1(~12)
2 24 1) = 2¢ 20 O) Te2(=11) 7oll=11) 2.C(=11) 6eP(=11) 6¢B{=kl) 6.7(=11) 6.6(=11)
2¢C 2» 1) - 3 2, 2) 1a3(=112 2.7(=13) J44(=11) 3.8(-11) 4.0(=11) @4.2(=11) 4.3{~-11)
2 20 1) -~ 3C 2o 1 Be8(=13) 242(=11) 1.6(=11) 12e9(-11) 241{-11) 2¢a(=11) 2.5(-11)
2024 1) -4t 2,0 1) 1e2(-12) 4e8(=12) 7.2(-12) 8¢9(=12} 1:0(=11) 1e2(=11) 1e3(~-11)
20 20 1) - AL 24 D) 546(=13) 2:4(=12) 2.8(~=12) 4.9(~12) S¢B8(=12) 6.6(=12) 7.5(-12)
20 2+ 6) = 0 0. O} 2:9(=12) 3e4(=12) 2.7(~-12) 3.9(=12) 8.1(~12) #.2(=12) #.3(-12)
2C 20 0) - 1 Oy 1} S.8(~12) #.3(~12) 4.1(=12) 4,00=12) 4¢0(-12) 3.9(=12) 3.9¢(-12)
20 2, 0} = 2( 04 2) Pe(=12) 6.8(-12) S E(=12} 9.8(=12) 9,9(=12} 1.,0{=11) 1.0¢(~11)
2¢ 20 C} = 3L 0s 3} 1e6(=11) Le7(=110 1eT(=11) La7(=11) 1.7(~11} 1ePl=21) 1.7(~11)
202, 0) - 4 0y W) 103(-11) 1e3(=11) 1e3(=11) 1e3¢=11) 1243C=11} 1.30(=11) 1e3(~11)
2¢ 24 C} - SC 0, & Le70=11) 1+9(=11) ZeCl=11) 2,1(~11) 2e2(=11} 2.2¢(=11) 2.3(~11)
2¢ 24 0) - 60 0s» 6} Fel(=12) 246(=12) 3.6(-12) 4.8(-12) 5.6(-12) 6.4(=12) 7.0(~12)
20 24 0) = 7( 00 ) 2eC(=123) 146(=12) 2.0(=12) 4.3(=~12) Sed(~-12} 6.4(=12) 7.3(-12})
20 2. 0) - B( 0, &) 9e(=1%) 247(=13) 7.5(~12) 1.4(=12) 2.0(-12} 2.6(~12) 3.1(-12})
20 2, 0) =2t 2. 1 Te2(=11) Tel(=31) .C(=11} 6.9(=11) 6e8(-111 6a7(=11) 6H.6(=11)
2¢ 2. 0) = 3C 2, 2) 6e€(=12) 1eS(=11) ZeCl=11) 2.3(=11) 2¢5(~11) 2e6(=11) 2.8(=11}
2¢ 24 0) = 3C 24 1) Le@(=11) 2e4(=11) 2.0(=11) 3.2(=11) 3.4(-11} 3.5(-11) 3.6(-11)
2C 2, 0) - &l 2, 3) 1ed(=12) S+3(=12) E€e2(=12) 1¢0C(-11) 1e2(-11) 1e3(~11) Lleat=~11)
20 2, 0) - &4C 20 &) S+6(=13) 2:5(=12) 4eil=12) 5.6(=12) 6¢9(-12) B8s2(=12) 9.5(-12)
3C 2+ 2) - 0C 0o 0) 203(=16) 144(=16) 1:C(=16) 7.5(=17). 6¢k{=17) Se2(=17) 4.6(-17)
3 2. 2) - 10 Co 1) 1e€(=12) 201(=12) Zea4(=12) 2.5(~12) 2.5(=12) 2.6(=12) 2,7(~12)
30 2. 2) -~ 2¢ 00 &) 723(=12) 9:3(=12) 1.0(=11) 1e2(=11) 1e1{-11) Lelf=10) Le2¢(=11)
30 &0 2) - 3C 0, ) 9e7U=12) 142¢=11) 2e2(=11) 1e3(=11) LeI=11) 1e3(=11} l.al~-11)
30 24 2) - 4 0, @) 6e6{~12) 7.6(=~12) E€EeC(=12) 8.3(=12) B.6(~12) B8.9(~12} 9,5(=12)
30 2, 2) 5( Co 5) Le#(=11) 1e7(=11) 1e?(=11) 1e8(=11) 1+8(=11) 149(=201) 1.9(=11)
30 2, 2) - 6C 0, 6) Be50=13) 1¢2(~11) 1e3(~13) 1+3(=~11) 1e3=13) 1led(=11) 1.4(=11)
32 22 ~TL 0s 1) Pell(=13) 4,6(=12) 7.6(=12) 1:0€=11) 142¢~11) 1a3(=11) 1o.4(=11)
3( 2, 2) -~ 8( 04 €) LeBU=14) 3.2¢(~13) <$aC(=13) 1e6(=12) 2+4(~12) 3.2(=12) @.0(=12)
€ 2. 2) - 20 24 1) 2e7=11)  3:3(=11) Jeq{=11) 3e5(=311) 3.5(=11) 3I.5(~311) 3.6(-11)
3 2, 2) - 2( 2+ O) Lef=11) 1e9¢(=11) Zol(=11) 2.1(=11) 2.2(=11) 242¢(=11) 2,3(~11)
M E, 2) -3 2, 1) 322(=11) 3.8(=11) 4s0(=12) 4s0(~i1) 4,0(~21) 4,0(=11) 4ali-11)
3C 24 2) - ot 20 2) Se4{-12) 2e4(-11) 2e2¢(=11) 3.6€=11) 3.9(=11) Asll~11) 4.3(-11)
(2. 2) - ot 2, D) 202(=12) 6¢5(-12) Se3(=12) Qell(=11) 21e3¢(~31) 1a5(=11) le6i(~11)
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TABLE 4B—Continued

INIFLAL F INAL 1Ce0 K 20.0 K 3Ce0 K 40,0 K 50.0 K 60,0 K 700 X

30 2. 1) ot 0 0) Le7i=12) 2.0(=12) Z2.1(=12) 242(~12) 2+2(=12) 2.3(=12) 2.,3(~12)
30 2. 1) 1t 0 1) 4oll=12) 4.8(-12) Se2(=42) Se8(=12) 5.6(=12) Se9(~12) 6+2(-12)
2. 1) 21 0. 2) SeS(=12) 6¢4{=12) €o2(=12) 6¢S(~12) 6.:5(-12) 6+6(=12) 6.,7(-12)
30 2. 1) 30 0 ) 8e5(=12) 9¢5(-12) $e8(=12) 9.9(=12) 1+0(~11) 1.0(~=11) 1e1(=11)
3L 2. 1) 4 04 &) 1e2(=11) 1eS(=11) 1+6(=10) 1e6(=11) 1e7Z(=11) Lo7(=L1) 1.8(-211)
2. St 0+ S) Ba{=11) 1e3(=11) 1e3(=11) 1ea(~11) 1e8(~11) 1ea(=11) 1.5(-11)
2. 1) 6l 0, 6) Le3M=11) 1e8(=110) Ze0f(=11) 2,1(=11) 2.2(=113) 2:3(=11) 2,3(~-11)
2. 720 0 7) Sed{=13) 2.41{~12) Je8(=12) 4.8(=12) 5.28-12) 5.9(=12) 6+5(~12)
3t 2, ) 8( 0, 8 Qol(=14) 2,1(=13) 1eB(=1E) 209(=12) 3.9(~12) 4H~12) 5.8(~-12)
3t 2. 1) 20 2. 1 FeBI-12) 1e4l=11) 1e7(~11) 1e8(=11) 1:9(=11) 2.0(=11) 2,3(~=11)
2. 1) 20 2. O) 2040110 249(=11) 2e04(~11) 3.0(=11) 3.0({=11) 3,0(~-11) 3.0(~-11)
€ 2, 1) 3 2, 2) 3e20=11) 348(=11) AeCl=11) 4e0(=11) 4,0(=11) 4c0(~11) Ali{-11)
32, 1) 4t 2, 2 263(=12) 7.0(=12) 1eCl=11) 1e3(=11) 1e5(~11) 1e7(=11) 1.9(=11)
3C 2. 1) 4t 2y 2) 9e06(=12) 246(=11) 2e%(=11) Sol{~11) @o8(=~11) Se7(~L)) A4,9-11)
ol 2, 2) 0( G« C) QeC{ C) 0.6l O0) CeCC C) 0,00 O3 0.0¢ ©) 0.0( ©0) 0.0 O
4 2o ) 1¢ ¢ 1) €eE(~13) €45(=13) Sez(=13) 9:6(~13) 9.9 =13} 1+0(=12) 1.14=12)
4 2. 3 2( 0. 2) 45(=12) S.6(-12) £s5(=12) 6¢0(~12) 6.1(=12) 6+3(=12) 6e8(~12)
40 2 3) 3C 0 ) Te7(=12) 9¢8(~12) 1leil=11) Qel(~11) Le2(~11) le2¢(=L1) 1,3¢(~11)
4 20 ) s 0. &) leld(=11) 1e3(=11) 1e30=11) 1+3(=11) 1e8(=11) 1lea(=11) 1l.8(-11)
el 24 ) 5( 0, ) Se€(=12) Tel(=12) T.6(=12) T«8(=12) B.0{~-12) 8.2(=12) 8.8(~12)
al 2, J) 6( 0, 6) 1e4(~11) 1e6(~-21) 1e7¢=11) 1e7(=11) 1e78=11) §+8(=11) 1le8(~11)
4 2, 3) 7 0 72 Je2(=12) 7a3(=12) Seq{-12) Jel(~=11) l1e2(=11) 1a3C(~-11) QLa&l~-}1)
al 2, 3) sl C» &) 2¢8(=13) 244(-12) 4.8(~1Z) 6.8(~12) B8.6(-12) 1.0(~11) 1lolt-11)
at 2, 3) 2¢ 2, 1) €eCl=12) Fe0(-12) Sell=12) 9eld=12) 9:.3(=12) 9¢7(~12) 1.0(~-11)
a( 2, 3) 20 2. 0) B8e2(=12) 140(=11) 1+CL=11) 1e0(=11} 140¢(=11) Leli-l2) Llelt=11})
a2, ) ¢ 2, 2) FeCl=11) Je7(=11) JeS{~11) 440(=11) &e0C(=11) 4ol(-11) 4.1(=-11)
Al 2, 3) 3C 2o 1 Tell=12) 1o1(=11) 1e3€(-11) 1e8(=11) 1e5(=11) 1.7(=11) 1.8(~-11)
&t 2, J) o 2, 2) Re8{=11) 2e60(=11) 2o€(~=11) 2.61-11) 2e6(=11}) 2e7(=f1) 2.8(~11)
4 2, 20 0 C» 0) Beb(=12) 1al(=12) 1e3(=12) 1:3(~12) 1.8{~12) 1le84(=12) Lle5(~12)
4l 2, 2) ¢ ¢ 1) 4e4(=12) Se3I(-12) Te6(=12) 5:6(=12) S5e?7(~12) Se7(-12) 5S.8(~12)
40 20 2) 20 Cv 2) Je2M=12) 3e7(=12) 247(=12) 347(=12) 348(=12) 3.9(=12) 4.1(-12)
4t 2, 2) 3¢ 0, 2) 4e5(=12) 4:8(=12) 4e8(~12) 4.2(~12) 4,0(=12) 3e9(=12) 3.9(~12)
4 2. 2) 4( 0 &) Le0(~11) 1ell~11}) Lelf=11) 1al(=11) Hlel(=113}) Jel(~-11) 1Me2(-11)
el 20 2) St 0, €) Le#i-11) 1e7(-11) LeB8(=11) 1+8(=11) 18(~11) 1.8(=~11) 1e9(-11)
a4 24 2) 6l Cs &) 1e20=11) 143(=11) 1e3(=011) 1e3¢=101) De3(=F1) Jodl~11) lLea(-11)
al 2. 2} 7C 0. 7) SE(~12) 1el(=11) dedl=11) 146¢=11) 1e7¢(=11) 1e8(=11) L.9¢~11)
4( 2. 2) 8( 0. 8) L1eT(=13) 148(-12) Ze7(=12) 349(-12) 4¢9(=12) S.8(-12) 6.6(~12)
o 20 2) 2( 2. 1) 3et(=12) 4.5(-12) 4,E(~12) S.0{-12) 5.2(~12) 5¢5(~12) 5.9(-12)
40 2, 2) 2¢ 2, 0) 34€6(=12) 4.7(=12) £.2(=12) SeT(=12) 6.3(~12) 648(=12) 7+5(~12)
4 20 2) 3 2, 2) TeCl~12) 1.0¢-11) 1+20-13) t1e2(~11) 130-11) led(=11) 1.8(-11)
a0 20 2) 3C 2. 1) 3eCl=11) 4eli~11} 4eal=11) 4:S5(=11L) 4e6(=11) &s6(=11) &,7(~11)
4 2, 2) 4t 2. ) 2e2(=11) 2600-11) Zobl=11) 246(=11) 2.6(=11) 2.7(=)1) 2.8{~1))
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